PART- A : Physics (Code - P)
4T - A difae fasm=

1. If force (F), velocity(V) and time (T) are taken as fundamental units, the dimensions of mass are
(MIFVTT] 2 [FVT7] @) [FV'T] @) [FV-'T]
e g (F), 997 (V) T21 §99 (T) B &1 ArE A (o1 o a1, Sg[E 31 ] 8rm e
(MIFVT] (2 [FVT7] @) [FV'T] @) [FV'T]

Ans. (4)

Sol F=Mx oM
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e Mv
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FTV-'=M

2, A projectile is fired from the surface of the earth with a velocity of 5ms~' and angle 6 with the horizontal.

Another projectile fired from another planet with a velocity of 3ms~" at the same angle follows a trajectory
which is identical with the trajectory of the projectile fired from the earth. The value of the acceleration due to
gravity on the planetis : (given = 9.8 ms3)

(1)3.5 25.9 (3)16.3 4)110.8

U Y& Bl gedl PI g A 5ms™' ® 97 H qA1 dfest e | 0 | BT o Biel 9l 2 | B o= ug A
3ms'® 97 TAT SH DIV (O)IR BI$ T UHh FA™ BT WY UeJ, Gl H BIS T U&s U & 99 (Fde |AF)

2| afe gedl R 2 g=9.8ms2 2 dl, 39 UT W &I @RV HT 419 ms2 H 81

(1 3.5 25.9 (3)16.3 4)110.8
Ans. (1)
Sol.
|
52 37
9.8 9
X —
as 25
a=35
3. A particle is moving such that its position coordinates (x,y) are

(2m, 3m) attime t= 0,
(6m,7m) attime t = 2s and
(13m, 14m) attimet=5s,

Average velocity vector (Vav) fromt=0tot=5sis:

1( . = T - h 1M -
mShsierai) @ 2f+]) @ 2(+1) @ li+])
UH HU 39 THR I el 2 b, 398 Reafa e (x,y) 7/ e 2
@2m,3m)gqgt=0,
6&m,7m) g9gt=2s WX
(13m, 14m) g99gt=5s W
@ t=0%t=5sap, sirad a wfw (v, ) @
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Sol.

Ans.

Sol.

)
T, =2i+3]

T =13i+14]
§=11i+11]

M+
v 5

A system consists of three masses m,, m, and m, connected by a string passing over a pulley P. The mass
m, hangs freely and m, and m_ are on a rough horizontal table (the coefficient of friction = p1). The pulley is
frictionless and of negligible mass. The downward acceleration of mass m_ is : (Assume m, =m,=m, =m)

m, m,

1- 2 1-2 1-2
1 -9 @5 @ A2 @2

IEf i T e d A s m, m, sk m, te IR0 A I & Ol 0P R P & SR 1R ol & | m, qad
U H Sehl € MR m, TAT M, Ueb el &faoT 7oT W &, foraet udor oite = p 8 | AR ador xfed @ sik gHen
SN VY B A m, = m,=m,=m g dl, m, B FEgE (= Bl SR ) @ROT B

m, m,
P
m3
- 2 1-2 1-2
v S0 @ 3" @ 2 @920,
3)
_ mg-2umg
~ 3m

_g-2umg _ (1-2u
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5.

Ans.

Sol.

Ans.
Sol.

The force 'F' acting on a particle of mass 'm' is indicated by the force-time graph shown below. The change in
momentum of the particle over the time interval from zeroto 8 sis :

6 - -
1l
prd
0 |
5l 2 4 6 8
t(s)—»
(1) 24 Ns (2) 20 Ns (3) 12 Ns (4) 6 Ns

'm' I B fhd) BT W IR g1 'F' Dl 901 IHI WP gRT SATAT AT 2 | 9T t =0T 8 s ddh & 3T
¥ $or B a7 ¥ gRad= g1 ¢

6 -
(!
z
0 }
34 2 4 6 8
t(s)—»
(1) 24 Ns (2) 20 Ns (3)12Ns (4) 6 Ns)

3)

1

AP = (5) 2 ©®)-3)@+14)30O)
=6-6+12
=12
A balloon with mass 'm' is descending down with an acceleration 'a' (where a < g). How much mass should
be removed from it so that is starts moving up with an acceleration 'a' ?

2ma 2ma ma ma
™M gra @5 a ® gra )3 a

'm' SR BT T o (TIRT) 'a' @ROT I #11< IR 81 ¢ | (Sal a<g) 399 ¥ fbd- S| M &1 uared ger fan
S P I8 '’ @R HWR B MR I o ?

2ma 2ma ma ma
™M gra @4 a ® gra @3 a)
(1)
mg-F=ma . Q)

la m—:m' Ta

mg (m-mg

s i S
.

F-(mMm-m)g=(mM-mYa

from (1)

F-mg+mg=ma-ma

mg-ma-mg+mg=ma-ma

m’(g + a) = 2ma

Educational Material Downloaded from http://www.evidyarthi.in/

2ma
Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers

= g+a

m!



Ans.
Sol.

Ans.
Sol.

A body of mass (4m) is lying in x-y plane at rest. It suddenly explodes into three pieces. Two pieces, each
of mass (m) move perpendicular to each other with equal speeds (v). The total kinetic energy generated due
to explosion is :

3 2 2 2
(Hmv? 2 Emo 3) 2mv (4) 4mv

4m SFHE BT TP (U8 (@K]) x-y T R O SfaRea1 4 2 | 394 3rard [a¥hie 819 W), 39& &l 9, (R4
IS P SHE 'm' 2) U & 9 'V W U G DI o QT H 1 T A 2 | I, f[aepie & SR i
F TS SHofl BT AT BT

3 2 2 2
(Hmv? ) Emo 3) 2mv 4) 4mv°)
()
y
X
P, = P
O=mvi+mv]j+2my
Co Vi3
Vo o2 2
v
lvl= 2
v v v v 2 2 3
2 2 mv
= —MmV°+—mv°+=-2m — | =my?2 =Zmv3
KE > > 5 {ﬁj mv2+ 2mv
The oscillation of a body on a smooth horizontal surface is represented by the equation,
X=Acos (ot)

where X =displacement attime t
o = frequency of oscillation
Which one of the following graph shows correctly the variation 'a' with 't' ?

A A A 2
a a a a

|
mol T @ Ol\/ T ®° s (4)O| e

Here a = acceleration attime t

T =time period

el fis (@) & fre- &fs g (9d8) R Sl & GHIBRYT Bl

X=Acos (ot) g1

forefad faar smar 8, &l

X =199 R fqwem=

® = &Il B mﬁf

dar't' s el 'a’ @ g @Rad=) B B9 A1 UTh (3Terd) e w9 H qear § 7

4 4 A A
a a a a

L]
(1)Ol < IT = © OI\/ T ®° T (4)01 e

TR a = I t TR @R
T = 3dddIat
(3)

X=Acos ot

v =Ao sin ot
a=-aw?cos ot
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Ans.

Sol.

10.

Ans.

Sol.

1.

Ans.

A solid cylinder of mass 50 kg and radius 0.5 m is free to rotate about horizontal axis. A massless string is
wound round the cylinder with one end attached to it and other hanging freely. Tension in the string required
to produce an angular acceleration of 2 revolutions s

(1)25N (2)50N (3)78.5N (4) 157N

50 kg S A1 0.5 m B35 &1 Ua o1 Riferss () araei &fst sfel & gRa: Td= w9 9 guie & Hhdl
2 | 39 W Uh YR & oUel 5 2, 51 T (-1 58 fafemsy 4 g 2 iR vt RRT gad RRT e &
Y Acd B 2 | XN H fPaw a9 v S {6 prof @Rt 2 gkepHor J-28) ?

(1)25N (2)50N (3)78.5N (4) 157N

(4)

MR?
M xR = [ 2 ]@0

T

MR 50x0.5
T= [T](a) = > (2 x 2r) = 157N

The ratio of the acceleration for a solid sphere (mass 'm' and radius 'R") rolling down an incline of angle '6'
without slipping and slipping down the incline without rolling is :

15:7 @2:3 3)2:5 4)7:5

ol 7 AT BT A BT 0" 8 39 W 'm' SIAM a1 'R 5591 &1 Ua 319 Ml HUR A A &l MR 39
THR T BT & b om <2 § i quid « diefe g 3R WRal ({haem) T8l 8, 9u1 g% fawn § Tfd dad
P! 2 3R dAlefre T80 8 | I, 57 Q171 WIS H Wl B @R $T FUTd I

MH5:7 22:3 ®2:5 47:5
(1)
_@gsin0
17 I
1+
MR?
a1 = g;I—ne = ggsu‘]e
1+ £MR?
5
ay 5
a, 7

A block hole is an object whose gravitational field is so strong that even light cannot escape from it. To what
approximate radius would earth (mass = 5.98x102 kg) have to be compressed to be a black hole ?
(1)10°m (210°m (3)102m (4)100m

FW fJaR (@1 Brd) Ua VA1 fUs 7, foraa J&cdia &9 3a+1 9ae =Ia1 ¢ b 399 § g&rer |l R 181
HHAT| gedl &1 vy fea 3rsar ae gqfea fear a6 a8 gwr fJav g9 o ?
(Gedl ®1 seaHT 5.98%10% kg)
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Sol.

12.

Ans.

Sol.

Light is unable to escape so
BT TATIT F B b

V.=C
2GM
o =3 x10°
R X

2x(?x1011j(6><1024)

R

= 3x 10°

getR~9 mm=~102m

Dependence of intensity of gravitational field (E) of earth with distance (r) from centre of earth is correctly
represented by :

el el
0 OR—T =, @ OlAR_\T*

ET ET

® © = (4) R -

gl & Ycdd & bl AFAI(E) B, §2A B D= A g (1) WX, 1T BT D19 A1 U1b HEl UbR f1afia bar
g7

el el
o OR T i Olﬁé
ET ET
3) OH?+ @ © R >
(1)

__G™M
E——R—3><r(lfr<R)

GM .
E=——xTF (ifr>R)_ . ) .
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13.

Ans.

Sol.

14.

Ans.
Sol.

Copper of fixed volume 'V'is drawn into wire of length '¢'. When this wire is subjected to a constant force 'F',
the extension produced in the wire is 'A¢'. Which of the following graph is a straight line ?

(1) A¢ versus 1/¢ (2) Al versus ¢? (3) A¢ versus 1/¢? (4) Al versus /

foraa mas 'V @ dfd ¥ ' 18 BT Ud IR 9911 1 B | 39 IR WR US d ((R) 96 'F' e 9, 39
TS | AL gig BT ST g, 1 EIfed § | B A1 W% AR ¥l B 2

M ATAT1/e D S (2) AL TAT 2D d1F Q@) ALTAT/2H . () ATATL D 91

(2)

V= Al
F/A
Ve A
¢
Yao _F
¢ A
ot _F U
YA YV
A=F 2
YV
AL o 12

A certain number of spherical drops of a liquid of radius 'r' coalesce to form a single drop of radius 'R' and
volume 'V'. If 'T' is the surface tension of the liquid then:

1 1 1 1
(1) Energy = 4VT (F_Ej is released. (2) Energy = 3VT £F+§] is released.
1 1
(3) Energy = 3VT IR is released. (4) Energy is neither released nor absorbed.

el g 31 'r' S B MedR B & Aae: 'R’ 21 a2n 'V s1ad &1 Ue §& &9 Sl g, dfe &9 61 o
g 'T' &1 al, 39 YhH H ¢

1 1 1 1
(1) 4VT [F_Ej Sl gad B | (2) 3VT £;+§] ENIESENIE SRR
1 1
(3)3VT[;—§]wﬁgaag‘nﬁ| (4) 9 A1 ol gad B 7 & ey R |

3
(AL)J = (ST) (AA)
A(initial TR™®) = (4nrd)n
A(final 31fT) = 47R?2
AA = (4r2)n — 4nR?

i7rr3 n= i1rR3
3 3
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15.

Ans.
Sol.

Sol.

16.

Ans.

Sol.

Steam at 100°C is passed into 20g of water at 10°C When water acquires a temperature of 80°C, the mass
of water present will be:

[ Take specific heat of water = 1 cal g~' °C-" and latent heat of steam = 540 cal g~']
10°C A & 20g STt #, 100°C BT AW IGIRell 2 STl Pl 19 80°C I+ WR IURIT STeT Pl S fder= BIT?
[ STl @ faf¥re SoA1 = 1 cal g~' °C~' @21 are &1 Y &°AT = 540 cal g']

(1)24¢g 231.5¢g (3)42.5¢ 4)225¢
(4)

m(g) steam at 100° - m(g) water at 100°C + 540m ... @)

m(g) water at 100°C —» m(g) water at 80°C + (m)(1) (20) ..... 2

M+@2

m(g) steam at 100°C — m(g) water at 80° + 560m (cal) ..... 3)

20 gwaterat 10°C + (20) (1) 70 > 20 g waterat 80°C ... 4

from (3) and (4)

mix + 1400 cal — (20 + m) g water at 80°C + 560m (cal)

1400 = 560m

25=m

Total mass of water present

=(20+ 2.5)g

=22.5¢

m(g) 919 100° IR - 100°C W m(g) 419 +540m ... Q)

m(g) 919 100°C 4R — 80°C IR m(g) ur=il + (m)(1) (20) ... ¥}

(M +@©)

m(g) 99 100°C IR — 80° IR m(g) U< + 560m (cal) ... 3)

10°C R 20 g U=l + (20) (1) 70 > 80°C R 20g U<l ... 4)

(3) T (4) ¥

#8197 + 1400 cal — 80°C W (20 + m) g 9= + 560m (cal)

1400 = 560m

25=m

a1 BT el U T

= (20 + 2.5)g

=22.5¢

Certain quantity of water cools from 70°C to 60°C in the first 5 minutes and to 54°C in the next 5 minutes. The
temperature of the surroundings is;

STl BT BB AAT BT 70°C § 60°C T S Bl § 5fFe dorr 60°C & 54°C G 31 &4 | 3R 5 e o
2| Al 9 B MU (ARIen) &7 g 2 |

(1)45°C (2) 20°C (3)42°C 4)10°C
(1)

®0-70 _ k(e5-T)

5

00 yi7-T)

ﬁ _65-T

-6 57-T
285-5T=195-3T
90=2T
T =45° Educational Material Downloaded from http://www.evidyarthi.in/
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17.

Ans.
Sol.

18.

Ans.
Sol.

Sol.

19.

Ans.

Sol.

A monoatomic gas at a pressure P, having a volume V expands isothermally to a volume 2V and then
adiabatically to a volume 16V. The final pressure of the gas is : (take y = 5/3)

fordt U wRATOgd 19 BT <9 P 3R " VE | 399 Ugel G9ardid ©u 9 2V 3ad- dd 3R e Tgi™ &y
¥ 16V MId= d® TR Bl ® | A y = 5/3 81 @I, 9 &1 3ff<aw 19 81 |

(1)64 P () 32P (3) P/64 @) 16P

(3)

Isothermally =T Ufsbar 4 PV = P2V

Adiabatically g ufhar

> @y =P, (t6vy

5
P(1)3
sz_s

P =

5
poP(1p__F
" 2022) T @@°
_ P
Pf—a

A thermodynamics system undergoes cyclic process ABCDA as shown in Fig. The work done by the
system in the cycle is:

BIE HHEIG FHTT NG § ST T AR Afshds Tsh7 ABCDA TR FardT ® | @1, am g1 59 a6 o
1 BT B

M
P
3P,

2P,

(WP, (2) 2PV, B ——

(4)
Work done in process ODA = 1/2 x P x V,
While work done in the process OBC = -1/2 PV,

ODA ufsbar # fdbar 1 &Rl = 1/2 x P x V|
OBC ufshan # faar war &1 =-1/2 PV,
qd P =0

(4) Zero ™

The mean free path of molecules of a gas (radius 'r') is inversely proportional to:

afe fdl I/ @ Srosii #1 F2rear 'r' &1 a1, ST Aed—Yad—ul GehHIgard! gl &:

me @r @)r @ Jr
(2

1
. P
Mean free path i d wd= 91 Jond?

1
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20.

Sol.

21,

Ans.

Sol.

Sol.

22,

Ans.

If n,, n,and n, are the fundamental frequencies of three segments into which a string is divided, then the
original fundamental frequency n of the string is given by:

Ife fodl Tl 1 i Wi ¥ fAdIfora ot R S Wi 6 4ol SMgREAT A n, n, qA n, & o g9 = B
URE Je1 Mgy n & forg wae grm:

1 1 1 1 1 1 1 1
—_————— —= + +
U RS RN TN N
® =y 41y + iy @n=n+nn,

£ /fz /«/3
_ T
MT 20\
_ T
7 205\
_ 1T
M 205\
_ 1T
=2 0

1 1 1 1
— 4 —
n n; N, ng

The number of possible natural oscillations of air column in a pipe closed at one end of length 85 cm whose
frequencies lies below 1250 Hz are: (velocity of sound = 340 ms™")

Ifq arg ¥ &@fy &1 a7 340 ms~' 2 @1, 1250 Hz | ¥ a7gft aret 85 cm &R Uah X IR 9% fofa (Urgy)
AT P HHG YThiad Sl bl Ge=1 B

(1) 4 5 @7 “e
(4)

Fundamental f fa closed peisf,= o= oo = = 100H
undamental freuency of a closed organ pipe is f, = 47 4x085 z

The natural freuencies of the organ pipe will be f=100 Hz, 300 Hz, 500 Hz, 700 Hz, 900 Hz, 1100 Hz which
are below 1250 Hz

V. _ 340
4/ 4x0.85

37 9 S UIg9 &1 d Urdhfc g S 1250 Hz 9 &9 81 = 100 Hz, 300 Hz, 500 Hz, 700 Hz, 900 Hz,
1100 Hz,

gq 37 1ey B ot Urpfde g f, = =100 Hz

A speeding motorcyclist sees traffic jam ahead of him. He slows down to 36km/hour. He finds that traffic has
eased and a car moving ahead of him at 18 km/hour is honking at a frequency of 1392 Hz. If the speed of
sound is 343 m/s, the frequency of the honk as heard by him will be:

¢t ST & PIROT US AICIATS (bl dTeld AU ATl HH B gU S 36km UfdTae &= aal 2 | ¢ hd 4 &8
W, IEH AT 18 km UfTET @1 ATa T g8 Th $R,1392 Hz 3Mgfy &1 & aordt 8 | afe eafy 31 =rat

343 m/s € I, HICE Uk toraFiETedal BWavate PHEm RETRY /MANw.evidyarthi.in/
(1) 1332 Hz Get CBSE Notef)V i@ iorials,(BpstdPDEtz & Sample Pap@p 1454 Hz
(3)




Sol.

23.

Ans.

Sol.

10 m/sec Dve

e e 5 m/sec
10 m/sec Dve

ey
R 5 m/sec

Appearent frequency heard by the observeris

Uerd gRT Gl T M9l Jgfal

V-V,
=t Vv

343 - (-10)
f= (1392)(T(—5)J =1412Hz

Two thin dielectric slabs of dielectric constants K, and K, (K, <K)) are inserted between plates of a parallel
plate capacitor, as shown in the figure. The variation of electric field 'E' between the plates with distance 'd' as
measured from plate P is correctly shown by:

T AR TSfed (fe) e Bl &1 wiel & dra §, K, 71 K, (K, < K,) IRI4gdi® & &1 Udd wid (Tefed)
o & <2y T SR X TS € | Gy B &1 uSieHisi b & fagd & &1 41 'E'H, gefcht P g3 d!
S A1 gRad= $I DITH Y Tl ®Y H AT 87

Pi+ - 1Q
+ —_
+ —
+ —
+ —
+ 7N
+ -
+ —
+ —
+
K, K,
t !
E
(1) @
0 d-» " a-
4
E
o U‘I_l—]
° d—p
3)
+ .
ZZ
‘g o
+ ; KQ -
+ [ - -
R
9 2-
NZHRZ N
E\
E, E,
Ey I_.]
K Eo
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24,

Ans.

Sol.

Sol.

25,

Ans.

Sol.

26.

Ans.
Sol.

A conducting sphere of radius R is given a charge Q. The electric potential and the electric field at the centre
of the sphere respectively are:

T AT el B AT R | 39 R QAT 8 | 39 Ml B dw R (Igqa fawg dor faga &= Haw: &

Q Q Q Q
(1) Zero and 47, R2 (%) 4neg R andZero  (3) 4ney R and 4s, R2 (4) Both are zero.
(2)

For a conducting sphere
Electric fidld at centre = 0

. _Ka__Q@
Potential at centre = R 4meoR
ATl el B forw
F TR faga &7 =0

KQ Q

F W favd = R 47megR

In a region the potential is represented by V(Xx, y, z) = 6x — 8xy -8y + 6yz, where Visin voltsand x, y, z, are
in meters. The electric force experienced by a charge of 2 coulomb situated at point (1, 1,1) is :

fBr & § fava 31, V(x, y, z) = 6x — 8xy —8y + 6yz ¥, f=fUd & Srar 8, S8 V, diee § 991 X, y, z, #iex
#F 2 A fag (1,1,1) R Rerd 2 F&t™ a9 R 0+ drel fagd 9t 2

(1)6+5N (2) 30N (3) 24N 4435 N
@)
V(nyyz)=6x—8xy—6y+6yz
E = N 6+8
x aX - y
N
Ey— ay—8x+8—62
E = N 6
e

E =(-6+8y), i+ (8x+8-62)]—6yk
E(1’1’1) :21+10]—6R

|E|= 2,35 NC-!

F=qE=2x 2,/35 = 4/35N

Two cities are 150 km apart. Electric power is sent from one city to another city through copper wires. The fall
of potential per km is 8 volt and the average resistance per km is 0.5Q The power loss in the wire is:
U TR ¥ fagfd i ®I, 150 km R Rerd U o/ 7R T, dld & dRI | Tl Sl 2 | Wfafdbaniiex fava—ara
8 dree am ufafeardiex siad wfeRig 0.5Q 8, @ R H wifdd—era &1 m:
(1)19.2wW (2) 19.2 kW 3)19.2J (4)12.2kW
(2)
Total voltage drop=150x 8=V
total resistance of wire R = 0.5 x 150
V2 _ (150 8)?

Power loss = F = m =19.2 KW

gl fa9d qaT1=150x 8=V
IR &1 He UfRIgR = 0.5 x 150
5 Educational,Material Downloaded from http://www.evidyarthi.in/
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27.

Ans.

Sol.

28.

Ans.
Sol.

The resistance in the two arms of the meter bridge are 5Q and RQ , respectively. When the resistance R is
shunted with an equal resistance, the new balance point is at 1.6 Z,. The resistance 'R'is :

el HAex—ug 31 &1 Yorsil &1 UfcRg 5Q T RQ 2 | 979 UfoRig R ¥ F9I<iR (@red) 39 A R 3119 &1 U 31
gfeRie (<) & fo= irar @ a1 1 Sged favg 1.6¢, IR U Brd1 | UfoRig 'R &1 719 8

] — Y

50 RQ
A ¢ 100 0;°
1)10Q @150 3)20Q 4)250
(2)
S__h
R 100-¢,
5 1.6,

R/2 100 -1.6¢,

Solving £, =25cmand R=15Q
A B R £, =25cmTAAT R=15Q

A potentiometer circuit has been set up for finding the internal resistance of a given cell. The main battery,
used across the potentiometer wire, has an emf of 2.0 V and a negligible internal resistance. The
potentiometer wire itself is 4 m long. When the resistance, R, connected acrose the given cell, has values
of .

(i) infinity (i) 9.5Q

The 'balancing lengths, on the potentiometer wire are found to be 3m and 2.85 m, respectively.

The value of internal resistance of the cellis :

B 30 T A BT T<ARS AR A1 B b (o ugadd U [A9amdl & aR &l awTs 4m & 3R 590 R0
H S = §e P fdgd ared 9 (YD) 2.0 Ve | 90 P =<IRe GfeRig 7770y 2 | fad 1 Jf & RRI
TR SIS T UfeRig® R &1 gfoRie:

(i) 3T (i)9.5Q

G R [A9aard #1 He HErsdl HH 3m aAr 2.85m € |

al, e BT ARG FfeRie Em:

(1)0.25Q (2)0.95Q (3)0.5Q 4) 0.75Q
3)
Internal resistance of the unknown cell is
Y I - _
0 R= 585 (9.50) = 0.5Q
TS el BT AM<IRE FfeRIeT
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29,

Ans.

Sol.

30.

Ans.

Following figures show the arrangement of bar magnets in different configurations. Each magnet has
magnetic dipole , . Which configuration has highest net magnetic dipole moment ?

(a) ®) s N © 30° ) 50°

s[s W] = - S N

Ma @b ©Xy #d

NG H T (BS) Bl B FawA3il & =14 <2 T 8 | yodd grb B fg9d 3mg0i 7, © | fba fa=ara 8
T grar fgga amget &1 w14 srfrdan gm?

N
N
N S

® ®)[s T © [ @ [ <%0

S[s N | S N S N
(T)a @b @3)c @)d
3)
@ M,..= Vm? +m? + 2mmcos90° = y2m
®) ; M_=m-m=0
© 20° M. =m? +m? + 2mmcos30° = my2 + 3
G M...= Ym? +m? + 2mmcos60° = +3m

60°

is configuration (c) O is least so M__ is maximum.
fa=arer (c) # 0 =g7eH © 37 M, SHfereberd &1 |

In an ammeter 0.2% of main current passes through the galvanometer. If resistance of galvanometeris G, the
resistance of ammeter will be :

1 499 1 500
—0G —0G —G —G
M 499 @ 500 ® 500 @ 499

e wieR § g1 gR1 BT 0.2% 9T AIHeR B HSel A oRdl @ | Afe A= IHIeR Pl Hseil BT Uiy G
& dl, 39 TR &1 yfeRie 8

1 G 499 G 1 G 500 G
499 Educatié%)almerial Downloaded @é)mp://www.evidyartmzn@
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Sol.

3.

Ans.
Sol.

499.
500 S

)
&

500

499 .
as (G) and the shunt are in parallel combination i, R =i R, = (500 ]( )= [500 ](S)

499
Tf (G) 3R e TAFR PA A & a7 i R =i R = (5OOJ( ) = (—IJ(S)

500

s = G
= ~ 499
Equivalent resitance of the ammeter
IR BT god iRy

1 1 1 G
Ry G G = Ra= 3500
499

Two identical long conducting wires AOB and COD are placed at right angle to each other, with one above
other such that'O' is their common point for the two. The wires carry I, and I, currents, respectively. Point
'T" is lying at distance 'd' from 'O' along a direction perpendicular to the plane containing the wires. The
magnetic field at the point 'P' will be :

M ;;d [_J (2) (I1+Iz) (3) (11 _12) (4) (12+I )1/2

aﬂﬁw(WQ)WWWAOBHWCODWQE%EEWWﬁm’cﬁ?@mﬁ%, 3R 'O fag W
U AR Pl Pled € | $79 A 1, q1 L TR Ydifed & <&l € | fawg'O' a1 'd' gl o= &1H1 dIRi o el B ofFeide]
feen & srgfee Reyd (e fawg P W gy &= &1 /19 I ¢

“_01_1 Mo Lo 2 2 Mo 2, 124172
M 2nd[12) @) SpgTi12) @) 5@ -15) @) 32007 +13)

4)
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~

IR (1)  BRYT =HT &5 B, = (%}'

_ . — Holp -
B due to wire (2) B, =[_2ndj -1

_ Holz -
IR (2) S PRY =S &8 B, = (ﬁ] -j)
= Mo
IBnetI - 2nd If +|§
32. A thin semicircular conducting the ring (PQR) of radius 'r' is falling with its plane vertical in a horizontal

magnetic field B, as shown in figure. Teh potential difference developed across the ring when its speed is v,
is :

X X X X

B
X X Q X X
X X X X
r

X ip x x RV x
(1) Zero (2) Bvnr?/2 and P is at higher potential
(3) =rBv and R is at higher potential (4) 2rBv and R is at higher potential

'r' 351 T U@ gl EgRIeR At [ () PQR T fast grar & BH R &1 2 | FRd 993 s9a1
HHTA 3R H &MY T AR FHealeR I8dl | ofd (Rd g3 R 3 =1 v2 a1, 59 & RRI & 4 faafd

fawaraR 2
X X X X
B
X X Q X X
x x x X
r
x Ip x x Rt x
() = (2) Bvar?/2 @ P S favg R 8 |
(3) nrBv A R &1 fawa aifdds (S=d) BT | (4) 2rBv @11 R &1 fava 21 (=) 81T |
Ans. (4)
Sol.
Q
m
P : R
P ! R
¢v

emf= VB/,, = VB(2R) where R is at higher potential and P is at lower potential
emf= VB(,, = VB(2R) el fa=g R S=a fqwa derr P {1 fawg o g |
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33.

Ans.

Sol.

34,

Ans.

Sol.

35.

Ans.
Sol.

Sol.

A transformer having efficiency of 90% is working on 200 V and 3 kW power supply. If the current in the
secondary coil is 6 Athe voltage across the secondary coil and the current in the primary coil respectively
are :

(1)300V,15A (2)450V,15A (3)450V,13.5A (4) 600V, 15A

T TTHBIER Bl S&dl 90% 2, I8 200 V@ 3 kW & UraR AITS IR B &R @ © | Al fgediad el 4 6 A
@ g7 yaTfRd 81 <& ® 91, ffdae e & (R & 9 fovarar den meifie Gl # fagd g &1 A e

B

(1)300V, 15A (2) 450V, 15A (3)450 V, 13.5A (4) 600V, 15A
2
C tin pri 'I‘E—3000—15A
urrent in primary coil = ¥ = —-0 =
! P 3000
TrIfHE Sl H GRT = V- 200 - 15A

P.= N%ofP,

out

.90
Vv, i, =mx(c«xoom

(v,) (6) = 2700
V, = 450 volt

Light with an energy flux of 25 x 10* Wm-2 falls on a perfectly reflecting surface at normal incidence. If the
surface areais 15 cm?, the average force exerted on the surface is :

(1)1.25x10°N (2)2.50x10°N (3)1.20x10°N (4)3.0x10°N

25 x 10* Wm2 S5l Forad &1 IS (6 quic: WRads g (Hd8) IR o=ad afad aidl 8 | AfE 39 J= &l
HA%A 15 cm2al dl, I8 TR IRIfIG 3ied 91 8 e

(1)1.25x10°N (2)2.50x10°N (3)1.20x10°N (4)3.0x10°N

()

2IA  2(25x10%)(15x107%)
F=—= 3
C 3x10

=25x10°N

A beam of light of & = 600 nm from a distant source falls on a single slit 1 mm wide and the resulting
diffraction pattern is observed on a screen 2 m away. The distance between first dark fringes on either side of
the central bright fringe is :

(1 1.2cm 2)1.2mm 3)2.4cm 4)2.4mm

g% RRera foefl 9Ia A 377aT 37, 4 =600 nm HT TSI YT, 1 mm AT 3R IR Safira 21 © | 399 e faaci
e @l 3R ¥ 2m gR Reyd ud R @ a1 2 a1, B a1 bl & |91 3R 31 UM e el & 4=
CARCCURSIRII I

(1)1.2cm (2)1.2mm 3)2.4cm (4)2.4mm

4)

Angular width of 1t maxima

2

- a

20

2.D _ 2x(800x107°)(2)
a 1x1073

linear width of 1t maxima = (D) (20) = =2.4mm

15t I B ol disrs

2
a

20

15t Ifeass 9 Q@@%ﬁ%ﬁ@@l&wﬂg@z@g&&@@&m ﬁtlgilsa/)/&a)\/\gezigwﬁhi.in/
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36. In the Young's double slit experiment the intensity of light at a point on the screen where the path difference is i is
K, (A being the wave length of light used). The intensity at a point where the path difference is 2/4, will be :
MK Q) K/4 3)K/2 (4) zero
T & g3 v 4, ud & {1 fdg o= ) UATaR 819 &, 981 U Bl dear K 2, (L 9gad THre d
e ©) | dl, Ud & S9 fdwg W 8l gATR A/4 7, dierar g

(MK (2) K/4 () K2 (4) 3
Ans. (3)
Sol. Lo 41,=K
. . A
at the other point, path difference = 1
271: AT
KAX = —x—=—
so phase difference 0 = . 4 5
L - T
I'=1,+1,+ 215 I cos 5
L _ K
I' = 210 = E
Sol. Lo 41,=K
A
T favg W IR = "
21t AT
= kAxX=—x—==
3[d: Bl 0 = 2 4 5
L - e
I'=1,+1,+ 215 I cos 5
L _ K
r=2p=
37. Itthe focal length of objective lens is increased then magnifying power of :
(1) microscope will increase but that of telescope decrease
(2) microscope and telescope both will increase
(3) microscope and telescope both will decrease
(4) microscope will decrease but that of telescope will increase.
A AAGTIH oI F B BIbd g Pl 9¢ a1 91 Al
(1) Gewell BI JAae= &HdT 9¢ SR dAT §REH BT HH 8 SR |
(2) GeweEl qAT GRES QI Bl AE e Fe |
(3) Geneel qAT gRES ST BT LT &qdT HH 8 SR |
(4) Geweell DI Jrae= eHdr B9 B TUT &S DI 98 SR |
Ans. (4)

L)YD
Sol. M.P. of a microscope = {Ej{f_j

e

if f, T = M.P. of the microscope will decrease

f
M.P. of telescope = f_o

e
if fOT = M/O. of telescope will increase.

LD
B, el P JrgEe ear = [fo j[f_j

afe f, T = a1 geweell &1 gl ervar gl

fo
imﬁ B ST Eg catlofgal Material Downloaded from http://www.evidyarthi.in/
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38.

Ans.
Sol.

39.

Ans.
Sol.

The angle of a prism is 'A". One of its refracting surfaces is silvered. Light rays falling at an angle of incidence
2A onthe first surface returns back through the same path after suffering reflection at the silvered surface.
The refractive index p, of the prismiis :

(1) 2sin A (2) 2 cos A @) %cos A @) tan A

et s &1 3o 'A'R | 39 IS & S ad® U (hald) Tofad R WRIadd 941 T 71 8, 399 I8
TS WR, 2A DI W IATYfId TH BI {HR0), IS g6 ¥ uRad~ & geard 379+ A1 9= 999 377l @ | a1, oo
% ggred &1 MUAdHd p B ;

(1) 2sin A (2) 2 cos A @) %cosA @) tan A
(2)

To retrace its path light rays should fall normally on the reflecting surface. So
r,=0

= rr=A-r, = r,=A

Now applying snell rule between incident ray and refracted ray.

(1) sin 2A) =nsin (A) > 2sinAcosA=nsinA

= n=2cosA

9] Bl Qe & o1y (IR0 Wad® a8 & o=dq cdHl a1y | 31d:
r,=0

= r=A-r, = r=A

amafad iR wmafda fexor & §/a =1 (snell) BT 90 T W

(1) sin 2A) =nsin (A) > 2sinAcosA=nsinA

= n=2cosA

When the energy of the incident radiation is increased by 20%, the kinetic energy of the photoelectrons
emitted from a metal surface increased fro m emitted 0.5 eV to 0.8eV. The work function of the metal is :
(1)0.65eV (2)1.0ev 3)1.3eV 4)1.5eVv

o1 & (B g8 UR Sl fafhRvll BT S5t BT 20% T R SHA Iedold Wit oidg i+l (DT [dgd goiami=)
@ TIferst St 0.5 eV I ged 0.8eV &1 Il B | I, 39 1g B SR Had o ¢

(1)0.65eV (2)1.0ev 3)1.3eV 4)1.5eV

(2)

KE =hv—y

max

0.5eV = hv — (1)

0.8eV=12hv-w, . e ownloaded from hit // idyarthi.in/
i ucatjon aterial Downloaded from http://www.evidyarthi.in
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40.

Ans.
Sol.

41.

Ans.

Sol.

42,

Ans.

If the kinetic energy of the particle is increased to 16 times its previous value, the percentage change in the
de-Broglie wavelength of the particle is :

(125 275 (3)60 4) 50

afe Al dU1 B AT Sl B IFD RIS A BT 16 TAT R QA1 S A1, I S—Fre a”l B
areed #§ gfaera aRads g6 -

(125 275 (3)60 4) 50

(2)

KE = 16 times = V = 4 times

h A
= De-broglie wavelength [9‘ = W) =one forth (Xo - Toj . S0 De-Brogli wave will decrease by 75%

KE = 16 A1 = V = 4 T

h
mV

A
= SIECIRSIR RIS 2] (X = ] =T ATy (Xo %TO)% | 31 SI—aITell aRIeEd 75% B & S |

Hydrogen atom in ground state is excited by a monochromatic radiation of . = 975 A. Number of spectral
lines in the resulting spectrum emitted will be :

M3 @22 3)6 4)10

ot St Reafd § BTgSIor WA 1, & = 975 A qRaqed & Uhduil Yb1e ¥ IIfSTd fbar Sirdr & | a1, aRem
WAFed § AdgHl @Rl B Fw=ar 2l

M3 @22 (3)6 4)10
)
E f the phot E-h—c—@-1275 \}
nergy of the photone E = —==-— =12.75e
This energy is equal to energy gap between n=1 (- 13.6) and n = 4(-0.85). So by this energy, the electron
. . . . . n(n - 1)
will excite from n =1 to n = 4. When the electron will fall back, numbers of spectral lines emmitted = o
_@@-1 g
2
. hc 1240
B B FHofl E =  Tg7s - 1275eV
TE FHoli n=1 (- 13.6) GAT n = 4(-0.85) & Holi<R P IRIEX 2 | T 9 ol ¥ Solde n=19 n=44 Ifora
o . nin-1) . e
B STd gl g n =1 ¥ 3R a4 oy A X ST X
_@@-1 .
2

The Binding energy per nucleon of gLi and gHe nucleon are 5.60 MeV and 7.06 MeV, respectively. In the

nuclear reaction JLi+}H —3 He +3 He +Q , the value of energy Q released is :
(1) 19.6 MeV (2) —2.4 MeV (3) 8.4 MeV (4)17.3 MeV
ILi @2 2He @1 ufaq Yfawisil= du9 o, HH: 5.60 MeV q11 7.06 MeV = a1, fifda e arfafean

ILi+1H >4 He +4He +Q, § Jad Suofl Q &I A9 BT
(1) 19.6 MeV Educati? I_yl_gftmaI/Downloaded {éﬁ)@_&tﬁé&/www.evidyartm)ir:‘/7_3 MeV
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Sol.

43.

Ans.
Sol.

LT+ H'— (He?)

BE of products = (5.6 MeV) x 7 + 0
IATE BT T4 FHoft BE = (5.6 MeV) x 7+ 0
=39.2 MeV

E, =-39.2 MeV

BE of reactant = (7.06) x 4 x 2

HRPT DI I8 Holl BE = (7.06) x 4 x 2

= 56.48 MeV

E, =-56.48 MeV

As nuclear energy decreases, so some energy will be released
g TABF Hofl T TS & 37 B Holl gad el
Q... =E —E, = (-39.2) - (-56.48) = 17.28 MeV

release

Aradio isotope 'X' with a half life 1.4 x 10° years decays to "Y' which is stable. A sample of the rock from a
cave was found to contain 'X' and 'Y' in the ratio 1: 7. The age of the rock is :

(1) 1.96 x 10°years (2) 3.92 x 10°years (3) 4.20 x 10°years (4) 8.40 x 10°years

Ueh fATCfded FHeRnf+a X' Bl 3f—ag 1.4 x 10° 94 ¢ | I8 &fd 2= 'Y' § KUIR 81 Sl & i1 R 2 |

B T B UH TS § X AT Y BT ST 1 : 7 U R | A1, 39 FEM DY MY BN

(1) 1.96 x 10° 94 (2) 3.92 x 10° T (3) 4.20 x 10° T4 (4) 8.40 x 10°Id
)
X —
t=0 N,
attimet N,—x X
No—x_l - X = 7NO
X 7 8
No _Ng

So remaining nuclei of X =N —x= B o2

So three half life periods would have been passed
= t=31,=3x1.4x10°=4.2 x 10%ear

X — Y
=0 N, 0
Bl GOt TR N,—Xx X
No-x 1 _ TN
x 7 X" 8
No _ N

3 X P UY MWD =N —x= =5
0 8 2

3 T SE%:TRJ %gﬁgnal Material Downloaded from http://www.evidyarthi.in/
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44,

Ans.
Sol.

45,

Ans.
Sol.

The given graph represents V —I characteristic for a semiconductor device.

Which of the following statement is correct ?

(1) Itis V =1 characteristic for solar cell where, point A represents open circuit voltage and point B short
circuit current.

(2) Itis for a solar cell and points A and B represent open circuit voltage and current, respectively.

(3) Itis for a photodiode and points A and B represent open circuit voltage and current respectively.

(4) Itis for a LED and points A and B represent open circuit voltage and short circuit current, respectively.

I& U (3fTerd) H U AT gfad w1 V - 1 fiareror geifar w2 |
A
I
A

V -
B

99 for) Fr=falad § § 3199 S |81 &7

(1) T8 AR e’ BT V 1 37T &, STef A, el URTr H dieedl =i B oig—ufRuer fAgjd a1 1 (afUd e & |

(2) I8 OR A & oy 2 q AR B el uRuy # HHLT: dreedl qT fagfd arT $1 Fufid #-d ¢ |

(3) I8 ‘Bl SRS’ & ol & T2 AfiR B gol URuer # sHen: dreedr a1 g a1 &1 Fefid &vd ¢ |
(4) 92 LED & for 2 ik AT B ot uRuel #§ sHen: dreedl dor ag—uafkuer 3§ fag]d a1 &1 fFrefid axd 2 |
M

M

B

It is V — i cherecterstic curve for a solar cell, where A represent open circuit voltage of solar cell and B
represent short circuit current.

g AR A BT SAAATNETS V —i T 2, S8l W AER el BT Gell IRyl fawar<iR gardm 2 o1 B oy gRuere
§TIRT AT 2 |

The barrier potential of a p-n junction depends on :

@ type of semi conductor material

(o)) amount of doping

© temperature

Which one of the following is correct?

(1) (@) and (b) only (2 (b) only (3) (b) and (c) only (4) (a), (b) and (¢)
< p-n IfT &1 AT favg ik Frar =

@ f—arerd & g W

) JTUMHSTOT BT AT W)

© g IR
f=tifrd | & P19 |1 92 77
(1) B (a) 7T (b) (2) B (b) (3) B (b) T (c) (4) (a), (b) 7T (0)

(4)
The barrier potential depends on type of semiconductor (for Si V, = 0.7 volt & for Ge V, = 0.3 volt), amount of
doping and also on the temperature.

s e e e e

% forv = 0.3 die)



46.

Ans.
Sol.

47.

Ans.

Sol.

48.

Ans.
Sol.

49,

Ans.

PART- B : Chemistry (Code - P)
4 - B : g fasm=

What is the maximum number of orbitals that can be identified with the following quantum number
n=3,/4=1,m=0 (Atomic structure) (XI) (easy)

M1 @2 33 44

o aren g & oy eiftrean ifafaaiRa weredl @Y e g 8 ?

n=3,/4=1,m=0

M1 22 3)3 4)4

™M

It is 3P orbital with magnetic Q.N. =0

So, it should be 3P,

Ig 3P FETF ¢ o e g FacH A= 07
37, Ig 3P, BT =Mfey

Calculate the energy in corresponding to light of wavelength 45 nm : (Planck's constant h=6.63 x 1024 Js:

speed of light c =3 x 108 ms™) (Atomic structure) (XI) (Moderate)
(1)6.67 x 107%™ (2)6.67 x 10"
(3)4.42x10°" (4)4.42 x10"®

45nm & TR & BT B [T Holl BT 419 S H Fbrai: (Wi ReR1® h = 6.63 x 1024 Js : UHTeT BT 97

c=3x108ms™)

(1)6.67 x 10 (2)6.67 x 10"
(3) 4.42 x 10- (4) 4.42 x 108
@
-34 8
g_hc_683x107x3:10° _, /' 1
3 45x10°°

Equal masses of H,, O, and methane have been taken in a container of volume V at temperature 27°C in
identical conditions. The ratio of the volumes of gases H.:O, : methane would be -

(Mole concept) (XI) (easy)
(1)8:16:1 (2)16:8 :1 3)16:1:2 4)8:1:2
I ggEE H H,, O, 3R A9 @1 Us omgdd V@ 9 § 27°C W A aRRerfadl # fomr g |
H,:0, : [ 141 & e &1 a/gurd 8- -

1)8:16:1 (2)16:8:1 316:1:2 48:1:2
©)

H, O, CH,

32 32 32

16 1 2 mole ratio

If a the length of the side of a cube, the distance between the body centered atom one corner atom in the

cube will be - (Solid state) (XIlI) (Moderate)
2 4

(1 ﬁa @ fa ) ?a 4) ga

e @ g5 B Beld DI THIS ©, O °F P SA:biwd WA Td DI dTel IRATY P e DI g3 B -
2 4

(1 ﬁa @ =2 ®) éa (4) éa
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Sol.

50.

Ans.
Sol.

51.

Ans.
Sol.

52.

Ans.
Sol.

53.

Ans.

Sol.

J3a/2

Which property of colloids is not dependent on the charge on colloidal particles ?
(Surface chemistry) (XII) (Easy)

(1) Coagulation (2) Electrophoresis (3) Electro-osmosis (4) Tyndall effect
BIAISSl BT DI 0T BIci(gsS B B AT TR R T8 BT 8 2

(1) e (2) 99d HUT HaAA (3) IR URTERYT (4) fovsat mvma
@)

Tyndal effect is due to Scattering of light and not due to charge.

fevsd UWTa UPBTRT & UHI0H & HROT BT & | @Tde & HROT 78))

Which of the following salts will give highest pH in water ? (lonic equilibrium) (XI) (easy)

() KCl (2) NaCl (3)Na,CO, (4) CusO,
ferferRaa Tauii | 9 oo | <1fdHdd pH <1 ?

() KCl (2) NaCl (3)Na,CO, (4) CuSO,
(©)

Na,CO, is basic due to hydrolysis of COZ™ ion (CO3™ 3MI+ & Sl 3fqees] & R Na,CO.&NIF ¢ )

CO35 +H,0 —— HCOj3; + OH-

Of the following 0.10m aqueous solutions, which one will exhibit the largest freezing point depression ?
(Solution & Coligative property) (XIl) (Easy)

() KCl @ CH,0, (3)AL(SO,), (4)K SO,
71 ¥ O fead 0.10m ST faeras &1 999 a1t f9id | Sra=a- 819 2

(1)KCI @ CH,0, (3)AL(SO)), (4)K SO,
©))

AT, =iKm

i is highest for AL(SO,),
Al(SO,),® e’ i1 W9 Searad &I

When 22 .4 litres of H,(g) is mixed with 11.2 litres of Cl (g), each at STP, the moles of HCI(g) formed is equal

to - (Mole concept) (XI) (easy)

(1) 1 mol of HCI(g) (2) 2 mol of HCI(g) (3)0.5molof HCI(@)  (4) 1.5 mol of HCI(g)
STd 22.4 Sf1ex H,(g) BT 1.2 Wflex Cl,(g) @ |1 STP R fAf3ra febar Sirem 8, a1 HCI(g) & #iet &+ -
(1) 1 91t HCI(g) (2) 2 |1t HCI(Q) (3) 0.5 Hrct HCI(g) (4) 1.5 A1t HCI(g)

M

H, + Cl, ——> 2HCI

2241t 121t

1mole = %mole

Limiting reagent is Cl,. So, 1 mole HCl is formed.

Cl, ¥ SfHHHS 8 3 1 mole HCI 17T
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54,

Ans.

Sol.

55.

Ans.
Sol.

56.

Ans.

Sol.

57.

Ans.

When 0.1 mol Mnoi‘ is oxidised the quantity of electricity required to completely Mnoi‘ to MnOy is -

(Electro chemistry) (XIl) (Moderate)
(1) 96500 C (2)2x96500C (3)9650C (4)96.50C

3R 0.1 mol MnO3™ @1 It STafId (MnO3~ & MnO,) B &, a fabeit faggd == #1 sraegebar g1 -

(1) 96500 C (2) 2 x 96500 C (3) 9650 C (4)96.50 C
©)

MnO3 —— MnO;

0.1 mole

v.f.=1

So, 0.1 mole = 96500 x 0.1

= 9650 C charge is required (31131 37TITIH B

Using the Gibbs change, AG® = + 63.3 kJ, for the following reaction, Ag,CO,(g) # 2Ag* (aq) + CO5~
(aq) the KSp of Ag,CO,(s) in water at 25°C is (R = 8.314 JK~' mol™")
(Therodynamics+lonic equilibrium) (XI) (Tough)
(1)3.2x102¢ (2)8.0 x 102 3)2.9x10° (4)7.9x10?
st STl aRad=, AG® = + 63.3 kJ I WA ¥ o gU =1 affufshan & o o7t § 25°C R
Ag,CO,(g) — 2Ag*(aq) + CO§* (@q), Ag,CO,(s) &1 Ksp%‘rTrr (R=28.314 JK-"mol-)
(1)3.2x10% (2)8.0x 10" 3)29x%x10° (4)7.9%x1072
@
AG®=-2303RTlog K
63.3 x 10°=-2.303 x 8.31 x 298 log Ko

—-11.09=log K,
8x10"12=K
sp

The weight of silver (at.wt. = 108) displaced by a quantity of electricity which displaces 5600 mL of O, at STP
will be - (Electro chemistry) (XIl) (Moderate)
(1)5.44¢g (2)10.8¢ (3)54.09 (4)108.0g
e (947 = 108) 1 a1 AR fawenfua g Sa= faga & S f& 5600 mL O, B1 STP uR fqwenfia Hvdr & ?
(1)5.4¢9 (2)10.8¢g (3)54.0¢ (4)108.0g
@)

_ 5600 1

n = = —
©2 722400 4

W a, Wo
9 1= 2

4 * -
108 M02 x (2H20 N 02+4H +4e)
Wag 1,
108 4
w,, =108 g

Which of the following statements is correct for the spontaneous adsorption of a gas ?

(1) AS s negative and therefore, AH should be highly positive (surface chemistry) (XIl) (Easy)
(2) ASis negative and therefore, AH should be highly negative

(3) ASis positive and therefore, AH should be negative

(4) AS is positive and therefore, AH should also be highly positive

o1 § 9 P vUE 9 B W yafdd ey & forg wd 2 2

(1) AS RUTHS 8, SAfeY, AH STadHq g-THE BIHT ATy

(2) AS VTS B, SAfeTY, AH ITadH FUITcHE BIHT ATy

(3) AS P 2, Eéuca%ioArgl Materia govflnlo ‘Eggg from http://www.evidyarthi.in/
(4) AS TS B, ST GHIE NGTESNATEe B HHIsTHEY Papers & Sample Papers
()




Sol.

58.

Ans.
Sol.

59.

Ans.
Sol.

60.

Ans.

AG=AH-TAS

AS = -ve foradsorption

So, AH must be —ve to make AG = -ve

AG=AH-TAS

Tq: yafdd ANy & forw AS =-ve

3 AG BT HIF FUMTHS 21 & fold AH BT A9 31fdd FoTeHd 811 12y AG = —ve
AG=AH-TAS

Forthe reversible reaction : (Chemical equilibrium) (XI) (easy)
N,(g) + 3H,(9) ——— 2NH,(g) + heat

—
The equilibrium shifts in forward direction -

(1) by increasing the concentration of NH_(g)

(2) by decreasing the pressure

(3) by decreasing the concentrations of N,(g) and H.(9)
(4) by increasing pressure and decreasing temperature

9 Sepvelia srfifear & forg:
N,(9) +3H,(9) # 2NH,(g) + heat
[rgaeer 3y faen # favenfaa el -
(1) NH,(g) &1 A=l 98T TR
(2) T H FH FA W
(3) N,(9) Td H,(g) P =l 7 HXT W
(4) <19 H gfg Ud a9 H F T W
@)
According to Le-Chatalier principle. (eTemdfey figr & J9R)

For the reaction : sifafsrar & for (Thermodynamics) (XI) (Tough)
X,0,4() - 2X0,(q)

AU = 2.1 k cal, As = 20 cal K-' at 300 K

300 K 4R AU = 2.1 k cal, As = 20 cal K-

Hence @I, AG is 2:

(1) 2.7 k cal (2) -2.7 k cal (3) 9.3 k cal (4) -9.3 k cal
@

AH= AU+ Ang RT

—0 14 2x2x300 A

e 1000

AG =AH-TAs

=3.3-300 x 2 =3.3-6=-2.7Kcal

=9.9— 1000—.———. ca

For a given exothermic reaction, Kp and Kp' are the equilibrium constants at temperatures T, and T,
respectively. Assuming that heat of reaction is constant in temperatures range between T, and T,, it is
readily observation that: (Chemical equilibrium) (XI) (Moderate)

ST JfAfhar & ford qraH T, vd T, W Aramawer Rexid dAen K 3R K ® | 3FR I8 A9 o f& qradr
G T, wd T, & 4= aififipan 1 oo Rer 8 | a1 o 3 0férd 2

1
(1) K, > K, @K, <K, @)K, =K, @) K, =

Ko
)
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K AHE (11
log—2 — —
Sol. K, = 2.303R {E TJ

T,>T, SoK, <Ky  (exothermicreaction)
(assuming T, > T, although it is not mentioned, which temprature is higher
If T, > T, then K, > K" then answer should be (2).

gl s (1)
Ki = 2303R (T, T,
T,>T, SoK <K  (Swied srfafopman)
(I8 wTd gU b T, > T, aeifd a8 7€l ®el T 8 S argar i @
afe T, > T, 9 K, > K, 1 S (2) €191 ey

61. Which of the following orders of ionic radii is correctly represented?

=1 4 9 fods g1 smafea f3ar &1 %A 9e w9 9 uefiia g ?
(Periodic table) (XI) (Moderate)

() H->H">H (2 Na*>F->02  (3)F->0%>Na" (4 AR >Mg2* > N>
Ans. BONUS
sol. F-=133P,
02=140P,,
Na*=102P,

There is no correct option. (®1s ¥ fawed T 721 B)

62. 1.0 g of magnesium is burnt with 0.56 g O, in a closed vessel. Which reaction is left in excess and
how much? (At, wt.Mg = 24; O = 16) (Mole concept) (XI) (Moderate)

1.0 g AfRRM B 0.56 g O, @ WY 4 UM H STAIT SITAT & | DIF—HT SAHAT AT I 3R fbef=r?
(Mg &1 TRATY ¥R = 24 U9 O &I WRHY YR = 16)

(1) Mg, 0.16 g (2)0,,0.16¢9 (3)Mg,0.44 g (4)0,,0.28¢
Ans. (1)

1
Sol. Mg + 2 O, -» MgO

1.0 0.56

24 32
0.5 0.07

12 4
05 007 x

12 % "4 2

. . g ~ o o o C 007 X

Oxygen is limiting reagent so (3RS AT AfAHHD B s‘ﬂi?le)T—E =0

_0.07
T2

0.5 0.07

excess (IR Mg = PR mole

mass of Mg is (Mg &1 &AM 8 ) =1 -0.7 x 12 = 0.16 gram.
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63.

Ans.
Sol.

64.

Ans.
Sol.

65.

Ans.
Sol.

66.

Ans.

Sol.

67.

Ans.
Sol.

68.

Ans.
Sol.

The pair of compounds that can exist together is:

AT BT ™ S Ua et fqedE @ ¥aar €, 2 (Redox reaction) (XI) (Moderate)
(1) FeCl,, SnCl, (2) HgCl,, SnCl, (3) FeCl,, SnCl, (4) FeCl4 Kl
©)

FeCl, and SnCl, (both are reducing agent and have lower oxidation no.)

FeCl, T SnCl, (2191 € 3{aemde € d1 AR siferiieror sraeen 4 2 1)

Be?*is isoelectronic with which of the following ions? (Atomic structure) (XI) (Easy)
for o § 9 Be?* fhud wHgodgiid 8 ?

(1) H* (2) Li* (3) Na* (4) Mg#*

@

Be2 = 182 = Lj*

Which of the following molecules has the maximum dipole moment ?

71 3 9 9 a1y &1 fgga amgel |walfd® 2 ? (Chemical bonding) (XI) (Easy)

(1) CO, (2) CH, (3) NH, (4) NF,
©)]
CO, CH, NH, NF,

p=0 p=0 pn=147D pn=0.23D

Which one of the following species has plane triangular shape ?

for e # & frdat s R axde f3aiofia 27 (Chemical bonding) (XI) (Moderate)
()N, (2) NO3 (3)NO, (4)CO,

@

o
TT~—~n=o0
o«

sp? (triangular planer) (F¥dd &1ofa )

Acidity of diprotic acids in aqueous solutions increases in the order:
STotlR faer=l # SsUife® oral &) arrdl &1 9gdl ga %9 ¢ : (p-block ) (XII) (Easy)

(1) H,S < H,Se < H,Te (2) H,Se < H,S < H,Te
(3) H,Te < H,S < H,Se (4)H,Se < H,Te < H,S
M

H,O < H,S < H,Se < H,Te (acidic strength) (3r=ila |He3)

(a) H,0,+ O; > H,0 + 20, (p-block ) (XII) (Easy)
(b) H,O, + Ag,0 —» 2Ag + H,0 + O,
Role of hydrogen peroxide in the above reactions is respectively:

TR & TS IMAfHAIR H egsIoH WRiFTss & B 2

(1) oxidizing in (a) and reducing in (b) (a) § STATI® T4 (b) H MU=ETId
(2) reducing in (a) and oxidizing in (b) (a) ¥ TAIF U9 (b) § SUATIH
(3) reducing in (a) and (b) (a) T4 (b) § TR

(4) oxidizing in (a) and (b) (a) Td (b) § STETIEH

©)

O, is reduced into O—2 ion and
Ag,0 is reduced to Ag so
H,O, is reducing agent in both (a) and (b)

O, T 3TeI- O-2 3T Tl

dugationalMaterial Downloaded from http://www.evidyarthi.in/
Ag,0 &1 ) /E%g{t E%QE o’l_fes, Bideo Tutorials, Test Papers & Sample Papers
H,O, ST (a) T (b) ¥ 31T 2 |



69.

Sol.

70.

Ans.

Sol.

71.

Ans.
Sol.

72,

Ans.
Sol.

73.

Ans.
Sol.

74.

Ans.
Sol.

Artificial sweetner which is stable under cold conditions only is :

(1) Saccharine (2) Sucralose (3) Aspartame (4) Alitame
PIAH 9YRE Sl Had ool URRAMT § & w2 © (Chemistry in everyday life) [Class XII] (easy)
(1) S (2) Fehrera (3) TwrcH (4) Tferea

)
Aspartame is stable at cold conditions but unstable at cooking temperature.
TaureH od uRRAfY # g 8Id1 B Ifed W1 9o drel dUEE TR SRR BT B

In acidic medium, H,0, changes Cr,0,72 to CrO; which has two (-O — O-) bonds Oxidation state of Cr
in CrOg is : (Redox) (XI) (Easy)

3P \regd | H,0, ,Cr,0,72 @1 CrO, fo# & &1 (-0 — O-) a7mdy & ¥ uRafdd #=a 2 | CrOg H Cr &1
STTRATST Fae 2 |

(1) +5 2) +3 3) +6 4)-10
©)]
O
0 ” o]
0 —_— T o

The reaction of aqueous KMnO, with H,O, in acidic conditions gives :
(Redox/d-block) (XI) (Easy)

el KMnO,, 31 31f¥fsean s alRRefa § H,0, 9 #Ra™ | 2l &

(1) Mn** and O, (2) Mn?* and O, (3) Mn?* and O, (4) Mn*" and MnO,,
@

3H,SO,+ 2KMnO, + 5H,0, > 50, + 2MnSO, + 8H,0 + K,SO,

Among the following complexes the one which shows Zero crystal field stabilizations energy (CFSE)
=1 dqal 7 9 UF o Y e 83 wriieeor Sl (CFSE) uaffa &war @
(Co-ordination compounds) (XIl) (Moderate)
((21)) [Nn(H,0)6]** (2) [Fe(H,0)q** (3) [Co(H,0)¢l* (4) [Co(H,0)g**
[Fe(H,0)¢**
Fe+2 = 3d5 (t291'1'1 eg1,1)
so CFSE.is=[-04x3+0.6 x2]A;,=0

Magnetic moment 2.83 BM is given by which of the following ions? (d-block) (XII) (easy)
(At.nos.Ti=22,Cr=24, Mn=25, Ni=28)

eI oIl & fhwe gra amrgef 2.83BM @ ?

(9.9: Ti=22,Cr=24, Mn=25, Ni=28)

(1) Ti*r (29Niz* 3) cr* (4) Mn?"

@

p=283,n=2

so (gufery) Niz* (3d4s”)

Which of the following complexes is used to be as an anticancer agent? (Co-ordination compounds)
1 i | B — Fae B ST U IR AP w4 H A g ? (XIl) (Moderate)

(1) mer-[Co(NH,),Cl] (2*) Cis- [Pt CI(NH,),] (3) cis - K [PtCLBr)] (4) Na,CoCl,

@

Cis - [Pt CL(NH,) 4600825 (S RIBIDISWHEd A3 ATHERNGRRAI & Wdyarthi.in/

31 - [Pt CL(NH,),] G/ eBs rhictesaded Tumemalsy Tast PiisepsBrsamiglePapetst IdT ¢ |




75.

Ans.
Sol.

76.

Ans.

Sol.

77.

Ans.
Sol.

Reason of lanthanoid contractioniis : (Periodic table) (XI) (easy)

(1) Negligible screening effect of 'f' orbitals (2) Increasing nuclear charge
(3) Decreasing nuclear charge (4) Decreasing screening effect
IS HHAT BT BRI T

(1) 'f BeTHT BT TIU IMTARYT YT (2) BRI 3raT 4 gig

(3) FIMA®IT 3aer § HHI (4) MARYT J49Td H HH

M

Poor screening effect of £orbital. (f-HeTdi &1 {;,ETF[ JITARYT JHT4)

In the following reaction, the product (A) (Topic-Aromatic[O]) (Class-XIl) (Moderate)
fery srfaforar & Sare (A) ® -

KIENCr NH,

+ H > (A) is :

Yellow dye

NH,

1D 2D
NH,

3 @—w@ @) @N=N@NH2

@

+ - G, H &b
Origia O At
— O

It is an electrophilic substitution reaction.

Coupling reaction of aniline takes place at the para-position to NH, group in benzene nucleus gives azodye.
TR TS Folag Tl Uieremae 1fAfhar 2 |

TRl # NH, &1 o1 Rerfd ar oo s1flifhar g1 Uoil 57 9T 81l © |

Which of the following will be most stable diazonium salt RN; X~ ? (Aromatic[O]) (Class-XIl) (easy)
1 § & B Faifds Tl SEYSEm Jaur RNS X~ 8rm?

(1) CH3N3X™ (2%) CgHsNZX™ (3) CH3CH, N5 X~ (4) CgHsCH,NSX™
@

Benzene diazonium chloride is most stable due to conjugation

TN SISUSHIRIH FARISS HYTT & HIRVT AR BNl 2 |
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78.

Ans.

Sol.

79.

Ans.
Sol.

80.

Ans.

Sol.

D(+) glucose reacts with hydroxyl amine and yield an oxime. The structure of the oxime would be :
(Topic-Biomolecules/Carbohydrate[O]) (Class-XII) (easy)

D(+) 7@ BEgifaae THIF & 1ot fhan axa SffaoTsd < 8 | SifaTgd &l el e §

CH=NOH CH=NOH CH=NOH CH=NOH
H—C:)—OH HO—C::—H HO—C::—H H-c:;-OH
HO-C-H HO-C-H H-C-OH HO-C-H
(1 HO-C—H @ H-C-oH (@ Ho-C-+ @ H-C-oH
H-C-OH H-C-OH H-C-OH H-C-OH
CH,OH CH,OH CH,OH CH,OH
@
CH=0 GH=NOH
H-C-OH -¢-on
HO-C-H HO-C—H
H-C—-OH H-G—OH
H—(:D—OH + NH,OH > H_¢_OH
CH,OH CH.OH
D(+) glucose Oxime

Which of the following hormones is produced under the condition of stress which stimulates glycogenolysis

in the liver of human being ? (Topic-Biomolecules/Harmones[O]) (Class-XIl) (easy)
(1) Thyroxin (2) Insulin (3) Adrenaline (4) Estradiol

%=1 § | BIF—a1 HIA Td B RAfa § A9 Apa H A SIoE IIUT Rl & ?

(1) AR () zgfers (3) TRIfwfer (4) WIS

©)

Adrenaline hormone is produced by adrenal glands after receiving a massage from the brain that a stressfull
situation has presented itself. It is commonly known as fight or flight hormone.

a1 31 Rafa 9 9= gRr |29 ura 819 R ufgHferq ufr 3 ufgfafas smfa o1 Scaei 81 ® 339 8 &1
Q= M fight 3R flight gf= 8

Which one of the following is an example of a thermosetting polymer?
771 § & BT ArUge 9gAd Pl a1V © ? (Topic-Polymer[O]) (Class-Xll) (Moderate)

~CH,-C =CH—CHj ~ CH, — CH)=
" i @ i
Cl Cl
OH OH
| Ty T A
P N - (H), -N-C (CH).C)r @< @ )i

@)

(1) Neoprene rubber (FRIEH &)

(2) PVC is a thermoplastic (PVC 2HiiiRe® &dl 8)

(3) Nylon—6,6 is a fibre (ATIci(7-6 6 X3 ®)

(4) Bakelite is a thermosetting polymer (§&ellgc dUge dgeid 2 )
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81.

Ans.

Sol.

82,

Ans.
Sol.

83.

Ans.
Sol.

Which of the following organic compounds polymerizes to form the polyester Dacron?

(1) Propylene and paraHO - (C.H,) - OH (Topic-Polymer[O]) (Class-XIl) (Moderate)
(2) Benzolic acid and ethanol

(3) Terepthalic acid and ethylene glycol

(4) Benzoic acid and para HO - (C,H,) - OH

7 4 9§ B9 BT AP agelidpd STbR Uifergees $hi od 8 7

(1) 9rqifer iR 91 HO - (CH,) - OH

(2) I=IT3d 371 UG A=A
(3) XHAfTH 317t U9 Uil TS dhial
(4) 9=ifge 3%t Ud U1 HO - (C H,) — OH
©)
Polyester Dacron
COOH COOCH,CH,0-
CH,—OH
+ | -
CH,—OH
COOH COOCH,CH,0-/n

Which one of the following is not a common component of Photochemical Smog?
(Topic-Environmental chemistry[O]) (Class-XI) (easy)

(1) Ozone (2)Acrolein (3) Peroxyacetyl nitrate (4) Chloroflurocarbons
1 % | B9 gHT I9TAfTS gU B A ged a4l © 2

(1) 3= (2) ThIferd (3) Wi Argge (4) FARI—TARIBIEA
@

In the Kjedahl’s method for estimation of nitrogen present in soil sample, ammonia evolved from 0.75g of

sample neutralized 10ml. of 1IM H_SO, The percentage of nitrogen in the soil is: (Topic-POC[O])
(Class-Xl) (easy)

XA B TA H Y ARSI B SURATT e B Bl beerd A § 0.75g T | Icqfora ™I &1 10ml.

1M H,SO, ¥ Safe a1 Sirdl 8 | Xd § ArggIoi &1 yfcrerd 2

(1)37.33 (2)45.33 (3)35.33 (4)43.33
M

Volume of IMH_SO, =10 m mol

Volume of NH, consumed =20 m mol

Weight of N = 1420
'9 = 71000

g=0.280g

0'2850 x100=37.33%

% N =
1M H,SO, &1 3frId= = 10 m mol
31f¥d NH, T 3RIa consumed = 20 m mol

14 x20
1000

N &I SH = g=0.280¢g

0'2850 «100=37.33%

% N =
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84. What product are formed when the following compound is treated with Br, in the presence of FeBr,?

o1 A1 B fbar Br, & |11 FeBr, o1 SuReIfal § draM o= @1 Icd1e a=1?

CH,
(Topic-Aromatic[O]) (Class-XIll) (easy)
CH,
CH, CH, CH, CH,
Br Br Br
(1) and (3iR) ) and (37R)
CH, Br CH, CH, CH,
CH
CH, CH, : CH,
Br
(3) and (3iR) 4) and (3iR)
CH
CH, Br o Br 3 Br CH,
Ans. (3

CH,

CH, CH,
Br
Br,/FeBr,
Sol. Electrophilic - agd
CH,
CH, Br

CH, substitution

85. Which of the following compoundds will undergo racemisation when solution of KOH hydrolysis?
o1 3 1 B ATl &1 KOH & faaad 9 ofa Jfaeed @ QIRTE X/HIBRl 81dT 7
(Topic-Reaction Mechanism[O]) (Class-XIl) (Moderate)

CH,
CH.CI c|:H3 C|:
. . N C
0] (ii) CH,CH,CH,CI (iii) H,C—CH—CH,CI (iv) H T HCI
(1) (i) and (ii) (2) (i) and (i)v (3) (iii) and (iv) 4) () and (iv)
(1) (i) 31 (i) (2) (i) 3R (v (3) (iii) 3R (iv) @) () 3R (iv)
Ans. (BONUS)
Sol. Answeris only (iv) but there is no correct option.
SR Bad (iv) B ifds T2 fadweq &1 faam 2 |
86. Among the following sets of reaction which one produces anisole?  (Topic-Reaction Mechanism[O])
T | I DI MRS WE Ve <1 22 (Class-XIl) (Moderate)
(1) CH,CHO ; RMgX (2) C,H,OH ; NaOH ; CH,|
(3) C,H.OH ; neutral (BERfﬂ—rf)FeCI3 (4) C,H,—CH, ; CH,COCI; AICI,
Ans. (2
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R
|
Sol. (1) CH,— CH= 0O + RMgx — CH,—CH—OH

alcohol

CH,l ~a .
(2) C,H,—OH + NaOH —» C,H,— ONa —Z> C.H, — OCH, (Williamson's synthesis) (IdlcIIHAT H2lqv)
N (Anisole)

(3) C,H,OH + neutral FeCl, — Violet colour complex (7 X7 @7 Fdel)
(4) CH,—CH, + CH,COCI + AICI, — Para—methyl acetophenone (SRI—HfIetHIE 1)

87. Which of the following will not be soluble in sodium hydrogen carbonate ? (Topic-GOC[O]) (Class-XIl)

(1) 2, 4, 6-trinitrophenol (2) Benzoic acid (Moderate)
(3*) o-Nitrophenol (4) Benzenesulphonic acid
o1 & I 39 Aifem erssIo dreibe § faoa T8 8 ?
(1) 2, 4, 6-gTEATLIBTA (2) IiIgH 3T
(3) o-TTEgIftheTet (4) TIFEEHITE 37
Ans. (3)
Sol.  Acids stronger than H,CO, give CO, gas with sodium hydrogen carbonate and also soluble in it.

H,CO, ¥ Uae ar |IfSH BISgIo blai-e & Al CO, ¥ <d & i g9 fdera Y 2 2 |

88. Which one is most reactive towards Nucleophilic addition reaction ? (Topic-Carbonyl compounds[O])
(Class-Xll) (easy)

71 | BIF TEEE IS Ififhar & ufa 9«9 3ifde afba g ?

CHO CHO
CHO COCH, @ @
(1) @/ 3] ©) 4
CH, NO,

Ans. @)
Sol. Electron withdrawing (I, —=M) groups increases reactivity towards nucleophilic addition reaction.
CHO
In NO, (-1, -M) group increases the reactivity towards nucleophilic addition reaction at CHO group.
NO,
AN (=1, M) THE TfIGHETE A ifaforar & ufa forarefierar g1 3a 2|
CHO
# NO, (-1, -M) H¥9E CHO |¥g W ATWeETel AN Afshar & ufd fharefierdr $1 981 <ar € |
NO,
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89.

Ans.

Sol.

90.

Ans.
Sol.

91.

Ans.

92.

Ans.

Identify Z in the sequence of reactions: (Topic-Alkene/Reaction mechanism[O])(Class-Xll) (Moderate)
SIGIEDIRCEEL K IVAEC B
HBr Y CszoNa

= > z
CH,CH,CH=CH, HO.
(1) CH,~(CH,),-O—CH.CH, (2) (CH,),CH~O-CH.CH,
(3) CH,(CH,),~O—-CH, (4) CH,CH,—CH(CH,)-O-CH,CH,
M
Br

HBr | C,H.ONa

CH,CH,CH=CH, W CH3CH2C|:H—CH2 ———> CH,~(CH,),-OCH,CH,

H

HBrin presence of peroxide gives anti Markovnikoff addition product.
1°alkyl halide on reaction with C_H.ONa gives S 2 reaction.

Br
HBr | C,H,ONa
CH,CH,CH=CH, W CH3CH2C|:H—CH2 ———> CH,~(CH,),-OCH,CH,

H

HBr &7 IR3ifraTsS B SufRfd & I §RT U= T bt Ieare 91w 2IdT 2 |
1° Ufeher 2amge C H,ONa & w1 S, 2 3ifwferar <ar 2 |

Which of the following organic compounds has same hybridization as its combustion product —(CO.,) ?
(Topic-GOC[O])(Class-XI) (easy)

(1) Ethane (2) Ethyne (3) Ethene (4) Ethanol
71 # 4 fd Prdfe ARH BT THR0T SHS <84 Iedg (CO) wiar g ?

(1) g (2) Serrg (3) gl (4) ST
@

In Ethyne (CH=CH) both carbon atoms are sp hybrid as the hybridisation of combustion product, carbon
atom of O=C=0(CO,).
QTS (CH=CH) & 191 BT BT HHRYT sp & Wil $I IHD qg+ Icare 0=C=0 (CO,) BT HHRYI &Il ¢ |

PART- C : BIOLOGY
Y[T - C : ofig fasm=

Which one of the following shows isogamy with non-flagellated gametes?

(1) Sargassum (2) Ectocarpus (3) Ulothrix (4) Spirogyra
fFferRad & | ®IF, BRI D] B STl § FHGTHbT STl 27
(1) IR (2) TaEIHIa (3) I (4) TTERIRRT

4)

Five kingdom system of classification suggested by R.H. Whittaker is not based on:

(1) Presence or absence of a well defined nucleus (2) Mode of reproduction

(3) Mode of nutrition. (4) Complexity of body organisation
IR. TF. fec TR §RT URAIfad Uid ST a0l fferRad § 9 fba o= snarRa =& 87

(1) GuRHTYT = @I IuRfa 3R srguier (2) UST=H &1 &1

(3) 1YY BT 7T (4) BT FESH BT Al

(1)
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Ans.
Sol.

94,

Ans.
Sol.

95.

Ans.

96.

Ans.

97.

Ans.

Sol.

Which one of the following fungi contains hallucinogens ?

(1) Morchella esculenta (2) Amanita muscaria
(3) Neurospora sp. (4) Ustilago sp.
ferfofRad § 9 19 9 Ba% # AR 8 ?

(1) ARG Y¥gorel (2) srarIeT TRBIRTT
(3) =EIERT SAIfa (4) arlerT Srfr

(2)
Amanita muscaria is a species of poisonous mushroom. It contains a psychoactive compound known as
muscimol having hallucinogenic properties.

VAT Fep AT 9eEH B U faiel Yol & | $99 U a4 Afih qwbidie Suiterd giar & foras! ugfa
AfyH H arell B 2 |

Archaebacteria differ from eubacteria in:

(1) Cell membrane structure (2) Mode of nutrition

(3) Cell shape (4) Mode of reproduction
STEIATaTY] (SmastaaciRa), gonarmpeti (gafaefan) | faad fam g & ?

(1) DIHT BT FAT (2) 9I9YT BT 7T

(3) PIRTH AMHR (4) UST=H T &1

(1)
Archaebacteria show the presence of branched chain lipids in cell membrane than eubacteria. That in-
creases tolerance against adverse conditions.

FafaeRar @ g 7 sfifsafaeRar o S wor § wRad siwen fafiew 8 2, o f& ufdae aRRufell &

ufd gfRIgddr Us= &vd 8

Which one of the following is wrong about Chara?
(1) Upper oogonium and lower round antheridium
(2) Globule and nucule present on the same plant
(3) Upper antheridium and lower oogonium

(4) Globule is male reproductive structure

&1 & fava § fy=folRad § & @19 Taq g ?
(1) S vl AR el Mt gar |

(2) T IR I BT TP &1 Ule H Ul |
(3) S g 3iR el sisur

(4) TATISA R USTHT G 2 |

3)

Which of the following is responsible for peat formation?

(1) Marchantia (2) Riccia (3) Funaria (4) Sphagnum
gic g9 & ford HIFar IR § ?
(1) F1BI¥IT (2) Refrm (3) wfeaT (4) T

4)

Placenta and pericarp are both edible portionsin :

(1) Apple (2) Banana (3) Tomato (4) Potato
SIUSTA IR HAWRT, T @I AT WA fhad € 2
(1) & (2) e (3) THIX (4) 3mreg

3)
Tomato has berry fruit in which all the parts of fruit including placenta and pericarp are edible.
TR H 8 B BT & T Bl & i A9 1 Sionvsds den Weid wnfie €, @ Ay B 8
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Ans.

Sol.

99.

Ans.
100.

Ans.

101.

Ans.

102.

Ans.

Sol.

When the margins of sepals or petals overlap one another without any particular direction, the condition is
termed as:

(1) Vexillary (2) Imbricate (3) Twisted (4) Valvate

9 qraree 4ol a1 & Yol B [, fa1 foedl faeiy faen & v gaR &1 sifasriad Sl € dl 39 a2 31 Hal
ST 7

(1) Jatrery (2) RO (3) =rafda (4) Dt

(2)

OO0

Valvate Twisted Imbricate Yexillary

You are given a fairly old piece of dicot stem and a dicot root. Which of the following anatomical structures
will your use to distinguish between the two?

(1) Secondary xylem (2) Secondary phloem  (3) Protoxylem (4) Cortical cells

3P U fEdIoTa=l a1 3R U fdiois o8 & S0l /I g A T3 & | 3774 I G141 H UHE &1 & forg
fer=aforRad | @19 A RIS A8 &1 &I Bl ?

(1) fgf® a1 (2) faferae divarg (3) nfaer® (4) IeHe PIRGR

)

Which one of the following statements is correct ?

(1) The seed in grasses is not endospermic.

(2) Mango is a parthenocarpic fruit

(3) A proteinaceous aleurone layer is present in maize grain.

(4) A sterile pistil is called a staminode.

ferfeRad Bl § 9 B9 a1 98 B 7

(1) a4t & ot yorandt 78 € |

(2) 3T TP 3ffYHHell Bl B |

(3) 9FHT & T ¥ TP WHahd YegIe Rd Suferd gl 2 |
(4) UF 99 NS BT 4 JHER HE A0l ¢ |

@)

Tracheids differ from the tracheary elementsiin :

(1) Having casparian strips (2) Being imperforate
(3) Lacking nucleus (4) Being lignified
qIff=rat, 3= ATz awdl | HH &= 8 & ?

(1) ST ufeeat &1 B (2) fel BT

(3) B=h BT WG (4) fafa gaa B

(2

An example of edible underground stem is:

(1) Carrot (2) Groundnut (3) Sweet potato (4) Potato
G A AT T BT U ITERYT DI & 2
(1) TR (2) Foroed (3) TR (4) 3

(4)
In potato - Edible part is underground tuber that is modification of underground stem. In carrot and sweet
potato the edible parts are conincal root and tuberous root respectively while in groundnut edible part is

cotyledons.
e s i AR B DU rieRdRS B R e SR RIS o
AT Sl o qem & 11?[\#0‘5%%% \é%;%%s {%T%St@ﬁ%f)%ﬁ% RIYFPLS 3
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Ans.

104.

Ans.

105.

Ans.

106.

Ans.

107.

Which structures perform the function of mitochondria in bacteria ?

(1) Nucleoid (2) Ribosomes (3) Cellwall (4) Mesosomes
Saropsli # GO &1 BrRi HIF fwrar g ?

(1) =M (2) JIZaE™ (3) BIfraT Aty (4) 9T

4)

Mesosome of Bacteria is analogous organ of Mitochondria. Both has respiratory enzymes.

SIETY] BT HISIEH, ATSCIP UgAl BT FART 3777 & | 39 a1l § -1 Tolg= 8id & |

The solid linear cytoskeletal elements having a diameter of 6 nm and made up of a single type of monomer
are known as :

(1) Microtubules (2) Microfilaments

(3) Intermediate filaments (4) Lamins

TP 19 IRIP ATgcluoR fSTHdT 19 6 nm 8 3R Sl Udhd UPR & Udold I 991 =, f6d A8 I 1 Sidn 8 72
(1) esrferant (2) geoag

(3) SR Y (4) <ife=a

(2)

The osmotic expansion of a cell kept in water is chiefly regulated by :

(1) Mitochondria (2) Vacuoles (3) Plastids (4) Ribosomes
S 4 dl U BIRMGI B RERVI bard J=ia: feds g_1 FrRif¥d @ e ?

(1) GFBIOTRT (2) 7T (3) Tadb (4) TsaH

(2)

During which phase(s) of cell cycle, amount of DNA in a cell remains at 4 C level if the initial amount is
denoted as 2C ?

(1)G,and G, (2)G,and S (3) Only G, (4)G,and M

gfe STV B URMIH 71T 2C B, I BIFAHT Ih B fbd Yrawer §, HIHT § SITAT P 7947 4 C TR TR
TATE ?

(1) G, 3R G, (2 G,3lkS (3) Ba G, 4) G,3R M
3)
Match the following and select the correct answer :
@ Centriole 0] Infoldings in mitochondria
(b Chlorophyll (i) Thylakoids
© Cristae iii) Nucleic acids
(6)) Ribozymes i) Basal body cilia or flagella
(1) | @iV (i) @) (iii)
m @) (i) (iv) (iii)
) 0] (iii) (i) (iv)
(4) (iv) (iii) @) (ii)
frrferRaa &1 gafera T 3k & IR g
@ ARG b= [0} LABIOTHT H - aeT
®) qofeRa (ii) ATgADITS
© 3d: Bb iy  ~afoerd ava
@) NEEISIRG] ) TeIT AT HIMH BT MR BT
(1) i) (i) 0 (i
| (2) @ (i) (iv) (iii)
m (_i) Ed cationeﬁ:?platerial Downﬂ_jgded friom htt&i_"_@/www bvidyarthi.in/
@ | (iv) Get CBSHilbtes, Video TufBrials, Tlest Papfibs & Samiple Papers
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Ans.

109.

Ans.

110.

Ans.

1.

Ans.
Sol.

Dr F. Went noted that if coleoptile tips were removed and placed on agar for one hour, the agar would produce

a bending when placed on one side of freshly - cut coleoptile stumps. Of what significance is this experiment
?

(1) It made possible the isolation and exact identification of auxin.

(2) It is the basis for quantitative determination of small amounts of growth- promoting substances.
(3) It supports the hypothesis that IAA is auxin.

(4) It demonstrated polar movements of auxins

S . e 7 FAReTor fdba o Al AR =l bl 37T BRI Ueb 1 & [olY 3FIR H @M WY Al 3FTR Th bl
IO BT, A T O B Y TR Al S5 & U MR T fhar S | 39 WRINT &1 907 Aged © 2

(1) ST STAOH BT YAFHROT 3R Hel Tgar q=Id gal |

(2) T8 gfgurcaTes® gaTell & &H AT & HIATHS (iR 67 YR § |

(3) T8 39 UR®HIT BT FHlH Bxar B fh MS.uT. 3ffaoil= 7 |

(4) T8 Sffeasi= BT gdra 789 1 Swia 2 |

(1)

Deficiency symptoms of nitrogen and potassium are visible firstin :

(1) Senescentleaves  (2) Young leaves (3) Roots (4) Buds
Ao AR UM & HH & 8T e U Pal fowd § 7

(1) STt ol | (2) a1 g | (3) oTsi H (4) wferai |
1

#\li)trogen and Potassium are mobile elements.

SIS AT AR I ad &

In which one of the following processes CO, is not released ?

(1) Aerobic respiration in plants (2) Aerobic respiration in animals
(3) Alcoholic fermentation (4) Lactate fermentation
frfead § & fa ufbar § CO, qa =781 &Il ?

(1) uredi # 91y TEE (2) wifori | ary TaEA

(3) Ucdhigel farvas (4) e fpuaa

4)

In lactate fermentation neither CO, releases nor NADH.H* forms.

Lactate dehydrogenase,

Pyruvic acid
®y ) FMN, Zn*

2CH,CO COOH + 2NAD H.H" —1

2CH,CHOHCOOH + 2NAD"

(Lactic acid)

oigee fdvad # 7 d CO, fderd! 8 3k 7 & NADH.H* g 8
2CH,CO COOH + 2NAD H.H' -—l

Lactate dehydrogenase,

Pyruvic acid
Py ) FMN, Zn"

2CH,CHOHCOOH + 2NAD"

(Lactic acid)

Anoxygenic photosynthesis is characteristic of:

(1) Rhodospirillum (2) Spirogyra (3) Chlamydomonas 4) Ulva
TRl BT ATl fhpl SrfHaeor & ?
(1) ISIErgRer (2) FTSRITRINT (3) FerATgSIAIIN (4) S7eqr

(1)
Rhodospirillum is BshaoaygeraichNikiteoies mfixinlp pieddsynt hetic Hacteviavidyarthi.in/

vISregRer srarrdiacHRESRMNO RERYIFRD Trbpsialiedentdppe[sd Sample Papers
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Ans.

113.

Ans.

114.

Ans.

115.

Ans.
Sol.

116.

Ans.

A few normal seedling of tomato were kept in a dark room.After few days they were found to have become
white- coloured like albions , Which of the following terms will you use to describe them ?
(1) Mutated (2) Embolised (3) Etiolated (4) Defoliated

THIRR B B AMI TGl BT AR $el 3 T T | FB (341 S 91€ d quidpea & S The gy U Y | Il
auie R & forg oy FefaRad § 9§ fbd W &1 yai e ?

(1) SaRafda (2) 3RRIfRd (3) wigRa (4) freafxa
()]

Which one of the following growth regulators is known as stress hormone ?

(1) Abscissic acid (2) Ethylene

(3) GA, (4) Indole acetic acid

frferaa 9 9 19— gfg FraFe afded g@i| & 9@ 9 =1 o7 @ 2
(1) T 3t (2) wfferT

(3)GA, (4) 3911 vifed s

M

Geitonogamy involves

(1) Fertilization of a flower by the pollen from another flower of the same plant

(2) Fertilization of a flower by the pollen from another same flower.

(3) Fertilization of a flower by the pollen from a flower of another plant in the same population

(4) Fertilization of a flower by the pollen from a flower of another plant belonging to a distant population

HATd G TRETOT H R BT ® P

(1) TP g BT =9 S 9y & g8 J0 & WIT 4

(2) U gW &1 FEE S g9 B WRET A

(3) TP g B [FET S FHE S gER UEY D JU D W H
(4) TP g BT =T g FAE & g8 UIeY & g & R 9
M

Male gametophyte with least number of cells is presentin :

(1) Pteris (2) Funaria (3) Lilium (4) Pinus
HIRMHIRI B R[FAH T@I a1 7R Jrbigiag e 2rar g ?
(1) <Ra (2) R (3) fatferm (4) IS

)

Lilium is angiospermic plant, in which male gametophyte is 3 - celled and most reduced gametophyte as
compared to Funaria (Bryophyte). Pinus (Gymnosperm), Pteris (Pteridophyte)

faferm smgadicia urey 2 o TR Aficiwrse 3 - SIf¥@r giar @ 9o wgARar (Bryophyte), qrs+d
(Gymnosperm), <R (Pteridophyte) & NficThIge &I g1 H fAdd ST 81T 2 |

An aggregate fruit is one which devloped from
(1) Multicarpellary syncarppous gynoecium
(2) Multicarpellary apocarups gynoecium

(3) Complete inflorescence

(4) Multicarpellary superior ovary

T Gl Bel g8 ® Wil faiid g &

(1) Sgavsy Jarsyl SRR |

(2) Sgarvsy! fagaredl SR
(3) 9of goIshe
(4) Sgarosdl Iedadl svsTery ¥

(2) Educational Material Downloaded from http://www.evidyarthi.in/
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Ans.

118.

Ans.
Sol.

119.

Ans.

120.

Ans.

121.

Ans.
Sol.

Pollen tablets are avalable in the market for:

(1) In vitro fertilization (2) Breeding programmes

(3) Supplementing food (4) Ex situ conservation

R fefar aoR # foa foy Suee € ?

(1) 9= fi== & forg (2) IoT= Arest & forg

(3) eI RO & forg (4) STERA TReT0T & fory

@)

Function of filiform apparutusis to :

(1) Recognize the suitable pollen at stigma (2) Stimulate division of genrative cell
(3) Producer nector (4) Guide the entry of pollen tube
TqET I FT F1 F 8 ?

(1) afdfer R SUYE WA ST I (2) 599 BIRHT & favre™ B IRT H=AT
(3) AHRE BT IATaA (4) IR el & W49 &7 qrfee=

(4)

Filiform apparatus finger like projections of synergids of embryo sac that guide the entry of pollen tube in
embryo sac

agedl SUBRYI, RIFRISTS B 3[el AT Magigdl & Sl YUrdly ¥ WA & T Bl R H-dl @

Non- albuminous seed is produced in:

(1) Maize (2) Castor (3) Wheat (4) Pea
eI ¥fEd 991 fead Sanfed 8id 87

(1) AFHT (2) 3R (3) g (4) AR
(@)

Which of the following showns coiled RNA strand and capsomeres ?

(1) Polio virus (2) Tobacco mosaic virus

(3) Measles virus (4) Retro virus

FSTd 3R T T Iogd JMR Ufeapiere fFreiferRad § 6 $19 qwiidr 8 2

(1) dforai famTop (2) T, HIoTd faur]

(3) T famTy (4) g fauro

(2)

Which one of the following is wrongly matched ?

(1) Transcription - Writing information from DNA to - RNA

(2) Transcription - Using information in m - RNA to make protein

(3) Repressor protein - Binds to a operatore to stop enzyme synthes

(4) Operon - Structural genes, operator and promoter.

feeRad 7 & 319 Torg gaferd & ?

(1) gerEd — €1 T U ¥ & AR T U Bl a1 fora=r |

(2) 3rgaTes — WA Ao & foly TH—3MR U9 T A A1 &1 WA BT |
(3) THHRY WEH — UfHvg FTATT Bl AP & oy Tarerd b7 9fd Far 2 |
(4) IMIRIT — AREATHS S, T D 3R SHRF |

(1)

Transcription - writing information from DNA to m-RNA.

IGIET — SITAN. I UH — ARTANY. I AT forg
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Ans.

123.

Ans.

124.

Ans.

125.

125.
Sol.

126.

Ans.

127.

Ans.

128.

Ans.

Transformation was discovered by :

(1) Meseson and stahl (2) Hershey and chase
(3) Griffith (4) Waston and crick
HUIARYT B @ISl {[Hdd gRT &Y T8 ?

(1) 7T 3R I (2) g2f ik =¥

(3) ity (4) acHA 3R fhd

3)

Fruit colourin squash is an example of :

(1) Recessive epistasis (2) Dominant epistasis
(3) Complementary genes (4) Inhibitory genes
TR B Bl BT T A IS0 8 ?

O CICIEEREI P ECICIRERGII

(3) T SiT (@) PR S

(2

Viruses have :

(1) DNA enclosed in a protein coat (2) Prokaryotic nucleus

(3) Single Chromosome (4) Both DNA and RNA
fquropeni & ar g @ ?

(1) WA eMaRer § uReg S TH U (2) MHB=DH s

(3) 3T TUH (4) ¥ U9 U 3R 3R UF U QI+

4)

The first human hormone produced by recombinant DNA tecnology is :

(1) Insulin (2) Estrogen (3) Thyroxin (4) Progesterone
IS €1 U9 U el gy Scarad dgell J9d gMiF I g ?

(1) zgforT (2) T (3) ATRIFI (4) AR

M

The first hormone to be genetically engineered i.e. insulin is commercially available as humulin.

Sfe® SRGRIRT §RT 9911 ST aTell 9ord 8rie g=gfer, Saande wu 4 g@fed & w4 § Iude T |

An analysis of chromosomal DNA using the Southern hybrization technique does not use:

(1) Electrophoresis (2) Blotting (3) Autoradiography 4)PCR
o7 AR € UF U B ITIvor § HeT IR qHb T WA a4l Bl ¢
OEECENECRE (2) 7T (3) wafafem=ol fa=or (4) 0 3 IR

4

In vitro clonal propagation in plants in characterized by :

(1) PCR and RAPD (2) Northern blootting
(3) Electrophoresis and HPLC (4) Microscopy

qreal § u Fer yad fehas g fafia grar g ?

(1) 9. 1. IR, 3R 3R, T S6L (2) TS 2T

(3) I BT HAAH AR A W UA W (4) PR
@)

An alga which can be employed as food for human beings :

(1) Ulothrix (2) Chlorella (3) Spirogyra (4) Polysiphonia
I8 DI a1 ® 59 719a & forw @rer & wu § fanfora fean sirar g 2
(1) genraa (2) FARET (3) TRITRIRT (4) diferarsmif=ra

2
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Ans.
Sol.

130.

Ans.

131.

Ans.
Sol.

132.

Which vector can clone only a small fragment of DNA ?

(1) Bactrial artifical chromosome (2) Yeast artificial chromosome
(3) Plasmid (4) Comid

BT HARH B U7 U B $Hdcl TP BIC Ths DI Fall B Ghal 8 7
(1) Sary &7 HE oA (2) e 1 B oA
(3) =i e (4) HiRFS

)

Length of DNA in cloning vectors.

Plasmid - 5-10kb

Cosmid - 40-45kb

Bacterial -

Artificial Chromosome - 200 - 350 kb

Yeast artificial chromosome -1Mb

FAIT Hargdi § DNA 31 T8

Plasmid - 5-10kb

Cosmid - 40-45kb

Bacterial -

Artificial chromosome - 200 - 350 kb

Yeast artificial chromosome -1Mb

An example of ex situ conservation is :

(1) National Park (2) Seed Bank

(3) Wildlife santuary (4) Sacred Grove

ITEIRATT HRETIT BT U IETERVl BT 8 ?

(1) TR S (2) A 9F

(3) a1 wrvll HARTY (4) ufax Sy

(2)

A location with luxuriant growth of lichens on the trees indicates that the :
(1) Trees are very healthy (2) Trees are heavily infested
(3) Location is highly polluted (4) Location is not polluted
B I o gefl W Dl B FR 7 ¥ gig o Had qar g ?
(1) 981 QrTfdd wawer 8 (2) 381 WY el | I €
(3) T8 w1 31Tt gfid 8 (4) 98 I ugfia & ®

(4)

Lichens are indicators of SO, pollution. If location is not polluted by SO, than growth of lichen will enhance.

dEd=d SO, UgHYl & Yad &, AT $IE W SO, R Ugfid T2l @ 1 d8f agadd 3 Ifs 31 &l |

Match the following and select the correct option :

(a) Earthworm (i) Pioneer species
(b) Succession (i) Detrivore
(c) Ecosystem service (iii) Natality
(d) Population growth (iv) Pollination
a b c d

™M 0] (ii) (iii) (iv)

@ ™) 0] (iii) (ii)

) (iii) (ii) ) (i)

@ (ii) 0] ) (iii)

ferferRae @1 gafera HIfSTT siik T faded gfra—
(a) BT (i) 3T Sforat

(b) *g ! ~ Educational Mat(grl?a Boﬂﬁ'oaded from http://www.evidyarthi.in/
(c) MRRTBIY T Adet CBSE Note§ilyidedNtorials, Test Papers & Sample Papers

(d) s=Eve afs (i) TRTITOT



Ans.

133.

Ans.

134.

Ans.

135.

Ans.

136.

Ans.
Sol.

137.

Ans.

a b c d
M 0] (i) (iii) (iv)
@ ) 0 (iii) (i)
©) (iii) (ii) ) (i)
@) (ii) 0 ) (iiii)

(4)

A species facing extremely high risk of extinction in the immediate future is called :

(1) Vulnerable (2) Endemic

(3) Critically Endangered (4) Extinct

g SIfd, S e 9w #§ fAdios & Sea SIRgH B aRAT ST AHAT BR B & S FT Bl oIl B 7
(1) g (2) Tt

(3) ifad HHeTa— (4) facia

()

The zone of atmosphere in which the ozone layeris :

(1) lonosphere (2) Mesosphere (3) Stratosphere (4) Troposphere
YIS BT 98 &3 T 3 wRa SuRerd 2, 99 991 FEd 87

(1) TS (2) IS (3) FHATIHYS o (4) erATSa

()

The orgatnization which published the Red List of species is :

(1) ICFRE (2 IUCN (3) UNEP (4) WWF
DI A TS ST B XS Al TSGR Hal € ?

(1) oS, ¥l U%. 3R, §. (2) 31Ts. 3, |l T

(3) g w8 ° (4) . 5. UP.

()

Select the Taxon mentioned that represents both marine and fresh water species :
(1) Echionoderms (2) Ctenophroa

(3) Cephalocoradata (4) Cnidaria

JAR Y T | IHBT A Bifory K T T IR wew e SRt 2y g
(1) TbrgiIeHa (2) SABRT

(3) Ribalrdrser @) frsfan

@

Echinoderms, Ctenophores and Cephalochordates are exclusively marine. However, Cnidarians live in both
marine as well as fresh water habitats.

SPISISHY, fSAIB T b arbrecd Joicl A1 Bid @ | STdid eI~ Al qo W@e STl Il o JATardi
H 9 9 E

Which one of the following living organisms completely lacks a cell wall?

(1) Cyanobacteria (2) Sea- fan (Gorgonia)
(3) Saccharomyces (4) Blue- green algae
frfoaRaa § & frg Shifaa gl § e fasft &1 gof smma g 2
(1) ARFTIERAT (2) |9t wA (7T
(3) ARSI (4) 91 BRT Faret

(2)

Sea fan (Gorgonia) is an animal belonging to Phylum Cnidaria. The animal cells are devoid of cellulosic cell
wall.

WS S (T SRRt T BISWPToSTad o By A €31 YeRl Tl PRI FAfKT I orsma
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138.

Ans.
Sol.

139.

Ans.
Sol.

140.

Ans.
Sol.

141.

Ans.
Sol.

142.

Planaria possess high capacity of:

(1) metamorphosis (2) regeneration

(3) alternation of generation (4) bioluminescence
R H fhaay fdd erFar ardl 27

(1) BRI (2) g

(3) 91g! THIaRYT (4) Sra—afeT

(2)
Lower animals such as sponges, cnidarians and flat worms like Planaria are known to exhibit high degree of
regeneration.

TR o= o i, eRe=a qr =aue & S ©=RIT S BIfe B Jeagdas eddl Uaidid &R ¢ |

A marine cartilaginous fish that can produce electric current is:

(1) Pristis (2) Torpedo (3) Trygon (4) Scoliodon
Tdh AT TR Hoell Sl fAgd gRT I HR Fabell @
(1) Rew (2) SR (3) TR (4) TpIferRITS=

(2)
Torpedo (electric ray) possesses modified muscles acting as electric organs.
erRyrel (gaifdga ) d wuidRa YRR dgd 3 b1 B Bl ¢ |

Choose the correctly matched pair:

(1) Tendon-Specialized connective tissue (2) Adipose tissue-Dense connective tissue
(3) Areolar tissue- Loose connective tissue (4) Cartilage-Loose connective tissue
HE—HE A arel Siie &1 g=1a IR

(1) T (E=eA)— faRriga el Sd6 (2) a1 SHAh— 1 AN HdH

(3) <= TfddT Sds— Rfdra TSl Sds (4) SuTRer—RIfrar Fae Sd®

3)

Areolar connective tissue is a type of loose connective tissue and is most widely distributed in human body.
1 BT TATSN HAd U TR BT RN FaTell Had & qA1 I8 A-d TR § Faifdd fa@xT g gl ¢ |

Choose the correctly matched pair:

(1) Inner lining of salivary ducts - Ciliated epithelium

(2) Moist surface of buccal cavity - Glandular epithelium
(3) Tubular parts of nephrons- Cuboidal epithelium

(4) Inner surface of bronchioles - Squamous epithelium
SERERIEICICRTISICIRCCICICIISD I

(1) IR AT BT MRS TR—TEATH Ul

(2) 9@ Tfed1 B 71 qag—U el Iubel

(3) BIF & AfTHIHR HRI—E-THR Ul

(4) TIFPT DI AM<ARD Hdeg—Iedh! IUBAT

()

The tubular parts of nephron (except Bowman's capsule and thin limbs of Henle's loop) are lined by cuboidal
epithelium

P & AlTHI AN (@HF FYT TAT &7 B A B Udell ol DI BISHR) HATGR IUbal I WRI B ¢ |

In'S' phase of the cell cycle:

(1) amount of DNA doubles in each cell. (2) amount of DNA remains same in each cell.

(3) chromosome numberis increased (4) amount of DNA is reduced to half in each cell.
DIRNGT IF & TA UTaRAT | R a1 8 ?

(1) 9AF BRI L. . T P AT G B A1 2 |

(2) 9P HIfBT § ST, T zﬁrwa‘é‘rﬁfﬁ%

(3) TR 2 QZI@IF e CO§E fie EI Downloaded from http://www.evidyarthi.in/

ideo Tutorials, Test Papers & Sample Papers
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Sol.

143.

Ans.

144,

Ans.
Sol.

145.

Ans.
Sol.

146.

Ans.
Sol.

147.

Ans.
Sol.

Repliction of DNA takes place in S-phase of interphase.
SEIH ] 7Ll BT S-urawe T . DNA &1 gfaefaas g @

The motile bacteria are able to move by:

(1) fimbriae (2) flagella (3) cilia @) pili
i Siar] fbg & gRT fd &Rd & ?
(1) fhHfs (2) TR (3) veH™ (4) foretT

(2

Select the option which is not correct with respect to enzyme action:

(1) Substrate binds with enzyme at its active site.

(2) Addition of lot of succinate does not reverse the inhibition of succinic dehydrogenase by malonate
(3) Anon- competitive inhibitor binds the enzyme at a site distinct from that which binds the substrate
(4) Malonate is a competitive inhibitor of succinic dehydrogenase

ToTsd b & HeW H I fAwed &1 gl i1 Tefd @

(1) fSrameR TITgH & Afhd WA | IS O 2 |

(2) 90 1 AR ST ¥ ARAID SIRISSIOTS Bl HAl-e gRT HaH- WcH e aidl |

(3) U SMfaRUgicHd Ao Trollsd & 99 W 9 Gl 8 Sl [haER & s+ & ©Id & 74 2 |

(4) AT RIS SRS BT UH faicnd e ¢ |

()

Inhibition of the enzyme, succinate dehydrogenase by malonate is an example of competitive inhibition.
Such inhibition is overcome by edition of excess substrate (succinate) in the medium.

Hale (il ed®) & gRI Aaie SRggfoTe f[AaR &1 FedH, IfiRaeicid HeHd &1 U SRV ¢ | Head |
RS AT 4 (AR (FaT) SIdaR 39 UBR & dad I ik UTg S 9l ¢ |

Which one of the following is a non-reducing carbohydrate?

(1) Maltose (2) Sucrose (3) Lactose (4) Ribose 5-phosphate
f=ferRad 5 | BIF A1 P IF—TUARIE HIEIESST & 7
(1) AT (2) geprsl (3) TS (4) TSAIST—5HIEHT

(2)
Sucrose is a disaccharide. It is composed of each one of the glucose and fructose molecules joined together
by a—1, 2 glycosidic bond. It is an example of nonreducing sugars.

GehIoT U SIEUBISS ¢ | TS T@ial a1 Hhaclol U & U 19 Y fedds 941 2idl 8 1 a1, 2 Tgaiied
9 gRT S BId ¢ |

The enzyme recombinase is required at which stage of meiosis:

(1) Pachytene (2) Zygotene (3) Diplotene (4) Diakinesis

Repfast Trosd R favTee @ {5y sraven # snaedad 7 ?

(1) T (RIeruee)  (2) SRS (FFee)  (3) feenfer(fauce) (4) STEBIEIRM ([@RTfresH)
(1)

Replection of DNA takes place in S-phase of interphase stage.

STIB Ol AT HI S-Urawet § DNA &7 ufdegfera= g 2

The initial step in the digestion of milk in human is carried out by ?

(1) Lipase (2) Trypsin (3) Rennin (4) Pepsin
AFEl H gY $ e B MRS fhar fea & gy &) oy 7 ?
(1) STSUS () fefeas (3) ¥+ (4) T

()
The enzyme rennin is responsible for the coagulation of milk by converting soluble milk protein (casein) to
insoluble milk protéhsiparat dieeralTPosviel trad enlifranstelbrof Aiyes ks v riilkn/

X faa, gareite Sah CReTN e fem doaTy koA Ton BRBRES Br Rl FPRSSaw g o W 3 Swerd

NN o — -




148.

Ans.

Sol.

149.

Ans.
Sol.

150.

Ans.
Sol.

1561.

Ans.
Sol.

Fructose is absorbed into the blood through mucosa cells of intestine by the process called

(1) active transport (2) facilitated transport  (3) simple diffusion (4) co-transport mechanism
ThaeTSl Bl ITTNYVT 3Md & TS HIRTERN # I TH: Wb # fod fharfafd & gy arar g ?
(1) afspa aRasd (2) gared uRae (3) 9T R (4) | yRag- feparfafd

(2)
Passive transport of fructose involves a carrier protein without utilisation of ATP. Hence it is also called
facilitated transport.

ThacIol &1 3fha aRaed f=1 ATP @d {5 v ared WIS & gR1 9ud 2T ¢ | 37 39 g uRass |l wal
TR |

Approximately seventy percent of carbon-dioxide absorbed by the blood will be transported to the lungs:

(1) as bicarbonate ions (2) inthe form of dissolved gas molecules
(3) by binding to R.B.C. (4) as carbamino-haemoglobin

Th T TGN Bl SISaliaarss b1 o 9T 70 Ufaed 91T Bhsl dd TRdagd & aidr 27
(1) SIgPEAT M & w4 | (2) 19 & STUai Bl goll g8 Fawr 4

(3) e h BIOTHRN I 9899 RSB (4) FTEHFI— TEFEAIST & a<E

(1)
About 70% of CO, is converted into bicarbonates inside RBCs in presence of an enzyme carbonic anhydrase.The
bicarbonates are transported as salts of sodium and potassium in blood plasma as well as RBCs.

ST 70% CO, ffel ®fER Biorprafi # Braifed tergss f[dex g1 dgdEi-ed § aRdfdd & Sar 2 |
EPHETCH BT AIFSTH T TR TqUT & T H BER AT TAT BEAR HOTHIRT # Hdg ardT 7 |

Person with blood group AB is considered as universal recipient because he has:
(1) both A and B antigens on RBC but no antibodies in the plasma.

(2) both A and B antibodies in the plasma.

(3) no antigen on RBC and no antibody in the plasma

(4) both A and B antigens in the plasma but no antibodies

AB ¥h 9g d1aT fth F1 |14 STl (UTE1) AT S 27

(1) e HfER PIRTHIS W AR B a1 dfeor 8 & o wiroar 3§ ufarell srguferd 2idl €
(2) w1 § A3 B g1 ufeed 2l 8

(3) T SR PIRTHIA H BT Tfror &l ard R wrenr § gforeft =7 21l |

(4) <A1 H A RIR B gI91 ufaoe 81 € 9= wforeft =& &elv |

@)

Person with blood group AB is considered as universal recipient because he has no antigen on RBC and no
antibody in the plasma.

AB ®ftR T qrel Afh AEF$ U8 9 Sd 8 R S96 Bt wiodr § s o1 gfarelt 721 2ra1 2 |

How do parasympathetic neural signals affect the working of the heart.
(1) Reduce both heart rate and cardiac output

(2) Heart rate is increased without affecting the cardiac output.

(3) Both heart rate and cardiac output increase

(4) Heart rate decreases but cardiac output increases.

WIHU ARG Hobd gad & SRI—FaTe Pl HY JHIAd Hd & 7
(1) B9 W T, ged ey R 991 u9mE 6, 98 Sl 2 |

(2) =9 W 7fd, ged e &R a1 gvme ), 98 oIl €

(3) g2¥ W Tfy &R geu e 2191 9 o 8 |

(4) =T e Ifd & & 9l § ofdd gad e 98 oar 2 |
(1)

Parasympathetic signals reduce both heart rate and cardiac output.

o Edl g2 i EI ,:[(‘FE?“S @m(%%? m E%P /www.evidyarthi.in/
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Ans.
Sol.

1563.

Ans.
Sol.

154.

Ans.
Sol.

1565.

Ans.
Sol.

Which of the following causes an increase in sodium reabsorption in distal convoluted tubule?

(1) Increase in aldosterone levels (2) Decrease in antidiuretic hormone levels
(3) Decrease in aldosterone levels (4) Decrease in antidiuretic hormone levels
frrferRaa 3 4 fhae g1 g3 Harferd Aferd § HIfSTH &I JAREeiyv 9¢ Sl 8 ?

(1) VTSI & WR @ 9849 9 (2) WREReH eMA & TR & 9871 |
(3) VISIRRT & WR @ " | (4) TERIRITH BMA & &R & " |
(1)

Aldosterone is secreted by zona glomerulosa of adrenal cortex and also known as salt retaining hormone.
TeeRC R USIFel Dicad & Sl TAHwald I JIfdd &rdal & T vl JfaeRe M| & w9 H S SITdl 8 |

Select the correct matching of the types of the joint with the example in human skeletal system:

Types of joint Examples
m Cartilaginous joint between frontal and pariental
(3] Pivot joint between third and fourth cervical vertebrae
3 Hinge joint between humerus and pectoral girdle
(CY) Gliding joint between carpals
A & BT dF § WIS B JHR 3R ITPT S0 & Hel Ul BT aI= HIfor ¢
SiIe B PR SETEXT
(1) SUIRY b Sire hed 3R WRIged & 94
) §RIY (AZIT) SIS TR &R i frar FOvHal & da
®) FHeoll (E1) S TRY 3R 37 Al & 41
@  foud Gersfen) s erdea @ 9
(4)
Gliding joint occurs between carpals.
BT BT 91 H T (ST A arfy Sl 2 |
Stimulation of a muscle fiber by a motor neuron occurs at:
(1) the neuromuscular junction (2) the transverse tubules
(3) the myofibril (4) the sacroplasmic reticulum
URe RRA §RT U dg P S&IU= bal IR BNl 27
OGIEEAR EIRSER ! (2) 3TgeRe AfTHTY
(3) Wiz (4) weigar Siferat
(1)

Stimulation of a muscle fiber, by a motor neuron, occurs at the sarcolemma of neuro muscular junction due
to the release of a neurotransmitter(acetylcholine).

AT AP §RI D g BT eI dr3bl—Udl | & Abield WR T 3wl Har! (QACTDIT) & Jh 8
H BT B |

Injury localized to the hypothalamus would most likely disrupt:

(1) short - term memory (2) co - ordination during locomotion
(3) executive functions, such as decision making. (4) regulation of body temperature
BENIYeHY ae it afy Gwaa: = Rifad § & {6 v &1 arfdrg eef ?

(1) TTg— Bt [ (2) I § THIH

(3) FRIBRI UHT, W & foofa o= (4) IRR & AT BT 99

(4)

Thermoregulatory centre is present in the hypothalamus.
BIENATHH H a9 e B Sufkerd &idm 8 |
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156.  Which one of the following statements is not correct?
(1) Retinal is the light absorbing portion of visual photo pigments.
(2) In retina the rods have the photopigments rhodopsin while cones have three different photopigments.
(3) Retinal is a derivative of Vitamin C.
(4) Rhodopsin is the purplish red protein present in rods only.
frrafeRad domi 9 9 &9 A1 Ud 981 781 © ?
(1) e gfte YHT quics BT UhTeT JFTYUT B ATl 9T & |
(2) YT H e gofe A=A TrarwEei | Brdr ®

(3) XfewTat faeTfis C &1 = 7 |

(4) A=Iftad 1 ATt WIS B S dde IATHIRN | & SURRId &Idl 8 |
Ans. (3)
Sol. Retinal is derivative of vitamin A.

et faeria A®T 2= 7 |
157. Identify the hormone with its correct matching of source and function:

(1) Oxytocin - posterior pituitary, growth and maintenance of mammary glands.

(2) Melatonin - pineal gland, regulates the normal rhythm of sleepwake cycle.

(3) Progesterone - corpus-luteum, stimulation of growth and activities of female secondary sex organs.
(4) atrial natriuretic factor- ventricular wall increases the blood pressure.

B B UEAT B W1 IS T8 WG AR ISP R b FE e B g
(1) A — uea Iy UfI—gg TRl &1 faerd ik 3@ 9@ |
(2) werei-fufTae - R & e oa &1 frame |
(3) RSy fcad—Raai 7 fgdiae oiffie o 31 gig qan fhanaii & uzorn |
@) Tfeaa AfgRfcd IRE— gaa @1 e MRy 6 319 @1 9o 2
Ans. (2)
Sol. Melatonin is secreted by the pineal gland and regulates the normal rhythm of sleepwake cycle.

e fufrae Ui g1 wrfad grar B 3R 9= <fyd o &1 frafiig &xar 2 |

168.  Fight - or- flight reaction cause activation of :
(1) the parathyroid glands, leading to increased metabolic rate.
(2) the kidney, leading to suppression of renin angiotensin-aldosterone pathway.
(3) the adrenal medulla, leading to increased secretion of epinephrine and norepinephrene
(4) the pancreas leading to a reduction in the blood sugar levels.

HIST AT Tarrse rfaforanet & sRor fd &1 aforgor grar 87
(1) YRremsRizgs UfET &1 e SR SUTTeR) &) 9¢ ST 8 |
(2) 98 &1 ST BRI AFFA—TARTIICTRA VASIREIT Uy § &+l 81 Il ¢ |
(3) fSge &1 5T HIROT YU IR ARV BT BT 9§ ST ¢ |
(4) TR BT TS RO SR IHI BT WX G S1dl © |
Ans. (3)

Sol. The secretion of epinephrine and norepinephrene are secreted by adrenal medulla and are associated with
fight are flight reactions.

TYIHIBI der AIRYAHI 31fSiges HouT ¥ AIfdd 8d 8 e BIge Ud Fellse fsharsii | Hdfdd 8d ¢ |
159. The shared terminal duct of the reproductive and urinary system in the human male is:

(1) Urethra (2) Ureter (3) Vas deferens (4) Vasa efferentia
A R H ST SR I Jomen 31 AiEl 37 AT @
(1) ¥ A () 7 arfe ONERIEL (4) gepafes
Ans. (1)
Sol.  The ejaculatory duct opens into the urethra which is a common passage both, for urine and semen.

TG AferdT b1 EffUratiohamate FakPowinib aded ft arh bl Aimivae fidtlarealsng w11 2 |
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160.

Ans.

Sol.

161.

Ans.
Sol.

162.

Ans.
Sol.

163.

Ans.
Sol.

The main function of mammalian corpus luteum is to produce:

(1) estrogen only (2) progesterone

(3) human chorionic gonadotropin (4) relaxin only
TATAR B ffead &1 g S frefaiad & & a7 Fe g B
(1) I TEISA (2) URE =

(3) Ad SIS SIS (4) B Ratfea=

(2)
After successful fertilization the ruptured graafian follicle converts into corpus luteum. It cheifly secretes
progesterone.

Hbe FUEH & 918 <2l g3 Wihad gt drded Sfcad d SwuidiRd 81 Sl 2 | I8 J&Id: TSRl Bl Al
BT 2 |

Select the correct option describing gonadotropin activity in a normal pregnant female:
(1) High level of FSH and LH stimulates the thickening of endometrium

(2) High level of FSH and LH facilitate implantation of the embryo.

(3) high level of hCG stimulates the synthesize of estrogen and progesterone

(4) High level of hCG stimulates the thickening of endometrium.

UH A I S | MESigifue & 981 |fhaar &1 99 $3 a1t f[dded &1 999 Sifi—
(1) U% TH U9 3R U9 U9 & Iod TR g1 T¢I & Rl &1 Iqaldd |

(2) Uh UH UF 3R Ul Td & Sod R g1 YT & {aRIa0T bl Flagr S g1+ |

(3) Ta N S BT Fed TR VIS 3R ORI & HYA¥Y BT IGardd &l 8 |

(4) 7T N S BT o TR TeMfgIH & RIS BT I BT B |

&)

Human chorionic gonadotorpin(hCG) is secreted by placenta. It maintains the corpus luteumn and thereby
stimulate the synthesis of estrogen and progesterone.

Ad HIREE RIS (hCG) 3ifaet | A 8T & | I8 HIUY eI Bl §7IR-1 @I 2 T 36 JHR TS
TqAT WO B FIATUT Bl SEIUT B 2 |

Tubectomy is method of sterilization in which:
(1) small part of the fallopian tube is removed ortied up.
(2) ovaries are removed surgically
(3) small part of vas deferens is removed ortied up.
(4) uterus is removed surgically
cYFaCIHl IEIHRYl & U (A & For
(1) fEaarfa= =7l &1 BIeT WRT & a1 9 {32 Siar 2 |
(2) Jierrg & Treafhar Ay I e e S 2 |
(3) I SHRT BT BT ¥ fadTer fan rar € an i fean a2 |
(4) Tt wreafean fafdy g1 et foan Smar 2 |
1
g’L)Jbectomy is a sterlization method of birth control in which small part of the fallopian tube is removed or tied
up

T ST fFRIF01 B U 90T fafd 8 o fSaarfa=n &1 e wieT 91 9T fSaret foam Sirar 7 ar 91y fear

S

ST 2 |

Which of the following is a hormone releasing intra Uterine Device (IUD) ?

(1) Multiload 375 (2)LNG-20

(3) Cervical cap (4) Vault

feferRaa 9 & B9 U g+ HIfd SR arell SERCRIs gih (6rs P ) 2 ¢
(1) AcreArs—375 (2) Tef TT G- 20

(3) Hrar erdy

4
Educational Material Dowgﬂ)oaged from http://www.evidyarthi.in/
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Ans.

Sol.

165.

Ans.

Sol.

166.

Ans.

167.

Ans.

Assisted reproductive technology, IVF involves transfer of:
(1) Ovum into the fallopian tube.

(2) Zygote into the fallopian tube.

(3) Zygote into the uterus

(4) Embryo with 16 blastomeres into the fallopian tube.

TERIS S-h WIENfId], IVF & 3r=<iad b RAT=T=Ior 8laT 8 2
(1) JAUSIY] BT BT AT H

(2) gt BT BAd! AT H

(3) gTHST BT THIEd |

(4) 16 TREIIRIH dTel YU BT BTl ATl |

@

The transfer of zygote and early embryo upto eight blastomere stage is carried out into the fallopian tube. It
is known as Zygote Intra Fallopian Transfer (ZIFT) and is a type of IVF.

JHAS TAT IS HRB@US dlel TRIADH YT BT WRIFTRYT (SHai= # {2 SIrdm 2 | I8 ol aRiiSwara)
IRV (ZIFT) BT & a2 IVF &7 U6 THR 2 |

A man whose father was colour blind marries a woman who had a colour blind mother and normal father.
What percentage of male children of this couple will be colour blind ?

(1) 25% (2) 0% (3) 50% (4) 75%

U Ag® foraept fUar auriverar 3 ufid o ve Ul S 9§ fqare $ar § fSra) Ardr qoriverdan | af¥d sir foar
AM 2 | 39 g $ 7R dedi Bl fdan wferera qoriee g ?

(1) 25% (2) 0% (3) 50% (4) 75%
@)
XX XY
Female Male
(Normal & Carrier) (Normal eyed)
Al X Y
?
X© XX XY
X XX XY

Male children 50% will be coleublind of this couple.

39 THRT & 50% =R S=d quie 81

In a population of 1000 individuals 360 belong to genotype AA, 480 to Aa and the remaining 160 to aa, Based
on this data, the frequency of allele A in the population is :

(1) 0.4 (2 0.5 (3)0.6 (4)0.7
1000 &Aftc &) THfte § 360 SH-UwT AA, 480 Aa 3R 919 160 aa & I1=71d 3T & | 39 3Mdhs & 3MIR W A
Tl @1 JMIRT 39 FHfe | Bl

(1) 0.4 (2)0.5 (3)0.6 (4)0.7

3)

A human female with Turner's syndrome:

(1) has 45 chromosomes with XO (2) has one additional X chromosome.

(3) exhibits male characters (4) is able to produce children with normal husband.
TP TN Ol ek RIgE I U5 =

(1) SEH 45 IR XO & W1 ¢ | (2) S TS fIFH X TORGH ¢ |

(3) I8 TR B AeToT g B | (4) U% AT fd & 1T g9 UST R GHdl B |

(1) Educational Material Downloaded from http://www.evidyarthi.in/
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Ans.

169.

Ans.

170.

Sol.

171.

Ans.

Select the correct option:

Direction of reading of the
Dlrect:onof RNA synthesis template DNA strand
5

(1)

Commonly used vectors for human genome sequencing are:

(1) T-DNA (2) BAC and YAC

(3) Expression Vectors (4) T/A Cloning Vectors
AITd S STHAT & ol MR IR U daex @ :

() T-ITAT. (2) A R G T
(3) arfaafd aaex (4) T/A AT daex
(2)

Forelimbs of cat, lizard used in walking ; forelimbs of whale used in swimming and forelimbs of bats used in
flying are an example of :

(1) Analogous organs (2) Adaptive radiation
(3) Homologous organs (4) Convergent evolution

fIeel 3R foudell & UG I+ | @l B JUUE A7 3R THICS B UG e & oV 81d © , I fdasd
IETERT & ?

(1) GAgRra i (2) 3rgeqet fafaswo
(3) FHOIA 317 (4) SR fyrg
©)]

Forelimbs of cat, lizard, whale and bats are structurally similar and functionliy different. Such organs are
called as homologous organs.

faeet, foroTs, & q THies & 3PdIg WRadd ®U I FHIH IR BIAHS B A A= 81d 8 | U 377 FHId
37 By ¢ |

Which one of the following are analogous structures ?
(1) Wings of Bat and Wings of Pigeon

(2) Gills of Prawn and Lungs of Man

(3) Thorns of Bougainvillea and Tendrils of Cucurbita
(4) Flippers of Dolphin and legs of Horse.

foretferRad § & B9 @ Gy TREAT ¥ ?

(1) THMES & U9 3R HYR D 19

(2) 9 & et 3R 999 & Bbs

(3) drfaferar & wic ofik HHRIIer b dg

(4) Sife & fireTRd wiiianal Miaterial Downloaded from http://www.evidyarthi.in/
A1) Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers



Sol.

172.

Ans.
Sol.

173.

Ans.
Sol.

The structurally different but functionally similar organs are called as analogus organs.
FRITHS w9 H FAM TAT TAAIHD T H SR 377 HAGT 37 Hadd @ |

Which is the particular type of drug that is obtained from the plants whose one flowering branch is shown
below ?

(1) Hallucinogen (2) Depressant (3) Stimulant (4) Pain - Killer
g8 BI9 91 497 YPR $1 HIGd 9 2 Sl 99 WY I U 2l & forda! U gitad e A9 fawrg @ 7 ?

(1) SRS (2) JraTHH (3) SgaU®H (4) <¢ - FaR®
(1)

The branch of the plant given above is of Datura. It is a source of psychoactive compound which causes
hallocinations.

IR o gu A 1 emar gqer @) 2 | I8 AfayE 981 R arel U A-Eishd AifiE B Wid 2 |

At which stage of HIV infection does one usually show symptoms of AIDS ?
(1) With in 15 days of sexual contact with an infected person.

(2) When the infected retro virus enters host cells.

(3) When HIV damages large number of helper T - Lymphocytes.

(4) When the viral DNA is produced by reverse transcriptase.

T, IS, A1 HHAY B B 3raRen R USH & Aerv] 9 fo@rdl 9 B

(1) Fshioa afdd & a1 e T9ad 99 & 15 311 & iR 81 |

(2) 519 Fh AT XSTaraRT Wyd HIRTHT H U9 HRT 2 |

(3) 519 T3S 1. faener e # ge SI-forhrargel &1 effaued &var & |

(4) 519 SHH TIPS §RT aRRA SI.UH.T. ST 2IdT 2 |

)

HIV selectively destroys helper T- lymphocytes. It therefore causes symptoms of immuno deficiency due to
critically low number of helper T-lymphocytes.

HIV, TS 9 9 FEld T- forhiaged 31 8find $dl € | 39 ISR 9ela T- forpraged 3l w@ 4
I IRTe | UfOReT <=1 & &l Ydhe 8d ¢ |
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174.

Ans.

175.

Ans.
Sol.

176.

Ans.

177.

To obtain virus - free healthy plants from a diseased one by tissue culture technique, which part/parts of the
diseased plant will be taken ?

(1) Apical meristem only (2) Palisade parenchyma
(3) Both apical and axillary meristems  (4) Epidermis only

AP HaH dh-ilh gIRT AT ey ¥ fAuTo] — oo w@wel redl $I U bR & oY W 9ISy & fby 417/
AN BT foram Saem ?

(1) aa 2 frrara® (2) TS WRHIH

(3) TN iR 3refr fawsara® <Al & (4) Taa feH

)

What gases are produced in anaerobic sludge digesters ?
(1) Methane and CO,

(2) Methane, Hydrogen Sulphide and CO,

(3) Methane, Hydrogen Sulphide and CO,

(4) Hydrogen Sulphide and CO,

DIl I ARG IMYH FUTera H Sea= Bl 8 7

(1) Bae A1+ 3fiR CO,

(2) M, BISSIG Heblgs 3R CO,

(3) HIgrH, EIggIoH WehIgs 3R CO,

(4) BTFSISTT HBTgS 3R CO,

(2)

During sludge digestion, bacteria (sludge digesters) produce a mixture of gases such as methane, hydrogen
sulphide and carbon dioxide. These gases form biogas which can be used as source of energy.

HIST B AR SIAIY (HST T=T dTel) M, BTegIo Hoblss a2l Bl SieiladIss T4l $I T (A8 3=
FRA & | A IR I 2 Sl Sofl & GId b w9 § U Bl ol Fhdl 2 |

Just as a person moving from Delhi to Shimla to escape the heat for the duration of hot summer, thousands
of migratory birds from Siberia and other extremely cold northern regions move to:

(1) Western Ghat (2) Meghalaya
(3) Corbett National Park (4) Keolado National Park

5 PR v Afdd T B ARgH H T A 919 @ fog faeeh i Rrer S @ SE ueR ArgafRa iR e srafe
TH 3 ST U H ORI Jary veft fhg iR o & ?

(1) af¥=+ =1 (2) HeTeTa

(3) BT I e (4) fararaTeT IR e

4)

Given below is a simplified model of phosphorus cycling in a terrestrial ecosystem with four blanks (A-D).
Identify the blanks.

Consumers j¢———— ~

A
Al D

Uptake

[Sonl solution 'r\ Run off
v

A

[ 8]
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Options :

m Rock minerals |Detritus Litter fall |Producers
Litter Producers R(_mk Detritus
minerals
. Rock .
(3) |Detritus . Producer [Litter fall
minerals
. Rock .
(4) |Producers Litter fall ) Detritus
minerals

¢ U
SUHIEH [¢————
A4 D
[ Ale
STUB

[ E chu«a'\ GRS
8]

Options :
W SURD | ARG
ARG Fecrl SRt ICC N EoET)
e
o] -
SIICES EaGT UG
KIEN|
Ans. (3)

Educational Material Downloaded from http://www.evidyarthi.in/
Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers



178.

Ans.
Sol.

179.

Ans.

Given below is the representation of the extent of global diversity of invertebrates. What groups the four
portions (A-D) represent respectively ?

2

Option
A |
m Insects Crustaceans Other animal Molluscs
groups

m Crustaceans Insects Molluscs Other animal
groups

m Molluscs | Other animals groups| Crustaceans Insects

m Insects Molluscs Crustaceans Other animal
groups

BT DI B IR Sha fAfdgdr H1 srguifae fawdR = &3 1 2 | 9R |9g(A-D) fa &1 nfaffd e 22

HIeTh 3= urfl |E e R B
Fe AT FRRAT | o= arl

(4)
The insects comprise largest number of species in the animal kingdom while Mollusca is the second largest
animal phylum.

= ST | STl &1 Hailtd S Bt $ & Sidih Aled] SRl Faitrd a1 S 99 ¢ |

A scrubber in the exhaust of a chemical industrial plant removes :
(1) Gases like sulphurdioxide

(2) Particulate matter of the size 5 micrometer or above

(3) Gases like ozone and methane

(4) Particulate matter of the size 2.5 micrometer or less

U RIS Qe Gee & 16 | o gan ®har R gCrdl § ?
(1) T ST3ifaass ol 19

(2) 5 ATSHIHCR & AT Y IS HUHIT Uaref |

(3) 3N 3R M= ot 19

(4) 2.5 AT fTex @Lﬂaﬁgﬁﬁlmtgf%%%m%ded from http://www.evidyarthi.in/
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180. If 20 J of energy is trapped at producer level, then how much energy will be available to peacock as food in the
following chain ?
plant - mice —» snake — peacock
(1)0.02J (2)0.002J (3)0.2J (4) 0.0002J
G 20 J S IED TR R W AP ol Sl 3 a1, fHal Hofl 9iod & diR R Freafaiiad si@en & o=
AR BT Ul B ?
giar — HISE - 94 — AR
(1)0.02J (2)0.002J (3)0.2J (4) 0.0002J

Ans. (1)

Sol.  10% rule of Lindman is applicable
plant - mice —» snake — peacock
20J 2J 0.2J 0.02J
T8l foroeHT &1 10% =9 @R Bt 2

g > FE - "9 AR
20J 2J 0.2J 0.02J
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